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N % N % N % N % N % N %
RS A 3.3 55.8 35.5 55 0 100.0
2 o Xt 3.1 54.2 35.8 7.0 0 100.0
01 Xt 3.4 57.3 35.2 4.1 0 100.0
B ol 20 o 2.4 59.2 33.6 4.8 0 100.0
g 30 o 3.3 57.4 32.7 6.6 0 100.0
= 40 o 35 49.8 38.4 8.2 0 100.0
50 CH Ol 4
3.7 55.7 37.4 3.1 0 100.0
IS =00/012/U 6.0 58.0 30.0 6.0 0 100.0
= oo o 2.2 54.6 37.1 6.1 0 100.0
2 & 222y 2.4 478 4.0 8.8 0 100.0
0l E2et 4.1 58.6 31.7 5.5 0 100.0
I EFEER 3.8 57.5 35.9 2.9 0 100.0
&t o 1.6 65.1 28.6 4.8 0 100.0
2 = 2.1 52.1 39.6 6.3 0 100.0
2 = g
0 .0 0 0 0 .0
il = = ol 3t 3.4 56.7 38.9 1.0 0 100.0
s il = 2.8 54.1 35.9 7.3 0 100.0
== o= o0 & 3.8 57.7 33.3 5.3 0 100.0
IS o= 1 3.2 60.7 32.1 4.0 0 100.0
u - =2 m} 1.7 52.8 37.3 8.2 0 100.0
= 3 = 2.6 57.4 35.7 4.3 0 100.0
BB R 5.9 52.9 41.2 .0 0 100.0
2 il 4.4 55.0 35.7 4.9 0 100.0
B ot 200 9+ Olet 3.4 53.6 38.0 5.0 0 100.0
i g 200 ~ 300 02t 2.0 59.9 33.4 4.7 .0 100.0
8 300 g+ Olat 4.8 52.9 34.9 7.4 0 100.0
2 =2 g 0 .0 0 .0 0 .0
B A A = 6.4 60.7 30.7 2.2 0 100.0
& ol s /ol 2.1 58.6 35.6 3.8 0 100.0
2 © B 2 2.4 54.8 35.7 7.1 0 100.0
Ha/Esd/E= 0 50.0 43.7 6.3 0 100.0
DE/HY/EE 5.9 77.2 15.4 1.5 0 100.0
h=/gs= 1.5 31.9 54.1 12.6 0 100.0
SA/EA /P 2.5 50.5 37.6 9.4 0 100.0
2 =2 ¢ 0 .0 0 .0 0 .0
B E A = 5.1 57.6 33.3 4.0 0 100.0
a4 X ors /ol 3.8 55.6 36.3 4.4 0 100.0
B B 2 4.1 52.7 39.2 4.1 0 100.0
Ha/sd/m= 2.2 53.5 39.9 4.4 0 100.0
/Y 5.2 73.2 18.6 3.0 0 100.0
h=/3s 2.5 41.6 47.0 8.9 0 100.0
S/ SA/EE 1.6 53.6 36.1 8.7 0 100.0
HZ=/01=/62 0 47.8 47.8 4.3 0 100.0
2 =2 g 0 .0 0 .0 0 .0
& 0l X 2 3.7 63.7 28.2 4.4 0 100.0
a4 s == 4.6 51.1 38.4 6.0 0 100.0
== =l % 1.3 52.3 40.3 6.1 0 100.0
B’ 16 o & = 1.9 50.0 42 1 6.0 0 100.0
U L 2 8 4.9 62.6 28.2 4.3 0 100.0
gx'e A o 5.1 53.8 30.8 10.3 0 100.0
I A reY 0 45.4 46.8 7.8 0 100.0
B Xl s U2t o 1.7 48.1 42.4 7.8 0 100.0
g jc'j all =) 5.0 65.8 25.6 3.6 0 100.0
5 ol B ® oo 1.3 50.0 27.4 1.3 0 100.0
gl C 1.9 54.3 39.4 4.4 0 100.0
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N % N % N % N % N % N %
RS A 9.5 72.5 6.2 T8 0 700.0
2’ o Xt 10.2 71.3 16.3 2.2 0 100.0
of Xt 8.8 73.6 16.0 1.5 0 100.0
B o 20 o 7.9 75.0 14.7 2.4 0 100.0
g 30 cH 10.6 74.9 12.9 1.7 0 100.0
= 40 cH 10.6 69.0 18.4 2.0 0 100.0
50 CH Ol &
9.1 70.9 18.6 1.4 0 100.0
B = =9/01/U e 16.0 74.0 10.0 .0 0 100.0
g& g o 7.0 77.3 14.0 1.7 0 100.0
= 2 2 2 g 8.3 72.2 17.6 2.0 0 100.0
30l E 2 et 12.4 71.4 14.1 2.1 0 100.0
I EFR 8.6 72.4 17.1 1.9 0 100.0
& A4 4.8 69.8 23.8 1.6 0 100.0
2 = 14.6 60.4 22.9 2.1 0 100.0
2 =2 ¢
0 .0 0 .0 0 .0
B = = o st 10.3 68.5 18.7 25 0 100.0
= in] B 9.0 73.2 16.6 1.2 .0 100.0
== = ol & 9.8 73.4 14.4 2.4 0 100.0
B = o= 1 10.3 75.0 13.5 1.2 0 100.0
i - B il 7.3 72.6 17.8 2.3 0 100.0
= @ o= 1 10.4 64.3 21.7 3.5 0 100.0
ol Bt & n 17.6 471 17.6 17.6 0 100.0
2 il 10.1 74.0 15.0 8 0 100.0
B Ot 200 g+l Olet 10.6 72.9 14.5 2.0 0 100.0
T g- 200 ~ 300 0] 10.3 74.7 13.9 1.1 0 100.0
8- 300 9+ Ol4t 6.7 68.9 21.8 2.6 0 100.0
2 = g 0 .0 0 .0 0 .0
B2 A E 8.2 77.5 14.2 .0 0 100.0
= oL /&l 5.5 71.9 21.6 1.0 0 100.0
2 & 2 o 7.1 73.8 19.0 0 0 100.0
Ha/sg/5= 8.7 78.6 10.3 2.4 0 100.0
ZE/EL/H= 30.9 65.4 2.2 1.5 0 100.0
h=/8e 4.4 61.5 25.9 8.1 0 100.0
SAYSA/HY 6.9 74.8 16.8 1.5 0 100.0
2 = g 0 .0 0 .0 0 .0
B = M = 3.0 78.8 16.2 2.0 0 100.0
g X LA /&Il 8.8 69.4 21.9 0 0 100.0
B 2 2 6.8 81.1 12.2 .0 0 100.0
ha/zg/z= 6.1 76.3 16.2 1.3 0 100.0
ZE/AL/H= 22.1 70.6 6.1 1.3 0 100.0
h=/8e 4.0 68.3 22.3 5.4 0 100.0
SAYSA/HY 9.3 72.7 16.9 1.1 0 100.0
HZ=/01=/81 2 8.7 56.5 30.4 4.3 0 100.0
2 = g 0 .0 0 .0 0 .0
& ol X Cl 12.0 73.8 13.5 7 0 100.0
e¢ = [ 10.8 73.1 14.1 1.9 0 100.0
== B + 5.3 70.4 21.3 2.9 0 100.0
B’ 16 o & = 4.2 70.8 22.0 3.0 0 100.0
e e 2 8 14.6 73.3 1.1 1.0 0 100.0
g“e a g 2 2.6 79.5 17.9 0 0 100.0
I A REY 6.4 72.3 19.1 2.1 0 100.0
B Xl s U2t g 4.6 70.9 21.0 3.5 0 100.0
Qg o= g 16.4 72.5 9.2 1.9 0 100.0
S ol B ® g 1.3 80.6 8.1 .0 0 100.0
el Ct 7.4 72.6 19.3 7 0 100.0
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EERE S5 & S58 & S5 & S58 & S5 &
N % N % N % N % N % N %
RS A 25 32.2 53.1 2.3 0 700.0
2B o Xt 2.2 33.4 53.1 1.2 0 100.0
of Xt 2.8 30.9 53.0 13.3 0 100.0
B o 20 ] 2.4 39.7 50.3 75 0 100.0
g 30 cH 2.0 30.7 52.5 14.9 0 100.0
= 40 cH 35 25.1 55.3 16.1 0 100.0
50 CH Ol &
2.3 32.3 54.3 1.1 0 100.0
B =9/01/U e 6.0 52.0 36.0 6.0 0 100.0
g g o 1.7 21.0 62.4 14.8 0 100.0
= s 2 28 2.4 35.1 50.7 1.7 0 100.0
30l E 2 et 3.1 34.1 52.4 10.3 0 100.0
I EFR 2.9 31.1 51.7 14.3 0 100.0
& A4 0 44.4 49.2 6.3 0 100.0
2 = 0 31.3 54.2 14.6 0 100.0
2 =2 ¢
0 0 0 0 0 0
B = = o st 3.0 34.5 51.2 1.3 0 100.0
= in] B 2.2 31.3 53.5 13.0 .0 100.0
== = ol & 2.6 32.3 53.3 1.7 0 100.0
B = o= 1 1.6 33.7 52.8 1.9 0 100.0
i - B il 3.2 28.3 52.5 16.0 0 100.0
= @ o= 1 3.5 29.6 53.9 13.0 0 100.0
ol Bt & n 5.9 35.3 41.2 17.6 0 100.0
2 il 2.1 34.7 53.9 9.3 0 100.0
B o 200 g+l Olet 3.2 33.9 47.5 15.4 0 100.0
T g- 200 ~ 300 0] 2.9 31.6 54.3 1.2 0 100.0
8- 300 9+ Ol4t 1.0 30.4 59.3 9.3 0 100.0
2 = g 0 .0 0 .0 0 .0
B2 A E 7 31.5 61.0 6.7 0 100.0
2 ol & /ol 7 24.0 66.1 9.2 0 100.0
= 2 2l 0 42.9 40.5 16.7 0 100.0
Ha/sg/5= 8 40.5 45.2 13.5 0 100.0
ZE/EL/H= 10.3 485 34.6 6.6 0 100.0
h=/8e 7 21.5 52.6 25.2 0 100.0
SAYSA/HY 5.0 33.7 441 17.3 0 100.0
2 = g 0 .0 0 .0 0 .0
B = M = 0 26.3 66.7 7.1 0 100.0
g X LA /&Il 6 33.1 60.0 6.3 0 100.0
B 2 2 0 33.8 55.4 10.8 0 100.0
Ha/sg/E5= 9 32.5 54.4 12.3 0 100.0
ZE/AL/H= 6.1 41.6 44.6 7.8 0 100.0
h=/8e 2.5 24.8 50.0 22.8 0 100.0
SAYSA/HY 4.4 32.2 49.2 14.2 0 100.0
HZ=/01=/81 2 0 13.0 69.6 17.4 0 100.0
2 = g 0 .0 0 .0 0 .0
& ol X Cl 2.9 36.0 50.2 10.8 0 100.0
e¢ = [ 2.6 34.5 50.1 12.7 0 100.0
== ] * 1.9 25.3 59.5 13.3 0 100.0
B’ 16 o s =& 1.2 25.7 58.6 14.6 0 100.0
tha e 2 8 3.9 37.9 49.5 8.7 0 100.0
g“ a g 2 0 35.9 48.7 15.4 0 100.0
I A REY 1.4 27.0 52.5 19.1 0 100.0
& X T = 6 22.2 61.7 15.6 0 100.0
Q 2 ol = g 3.9 411 46.1 8.9 0 100.0
S ol B ® g 3.2 40.3 40.3 16.1 0 100.0
el Ct 2.8 31.6 53.8 11.8 0 100.0
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N% | N% | N% | N% | N% [ N% | N% | N% | N% | N% | N% | N% | N%
B A A 1.1 4 2.0 4.3 3.6 30.4| 10.3| 15.7| 17.3 5.9 9.0 .0 | 100.0
gu =1 1 8 2 1.7 4.6 4.6 30.1 9.3 15.3 18.0 4.4 11.0 .0 | 100.0
O 1 13 7 2.3 41 26| 30.8( 11.1 16.0| 16.7 7.4 7.0 .0 | 100.0
o 20 1.0 0 1.0 1.7 3.8| 28.3| 12.0| 20.5| 23.3 5.5 7.9 .0 | 100.0
§ 30 1.0 .0 2.0 6.6 3.0 28.4 9.2 17.8 14.5 5.9 11.6 .0 | 100.0
= 40 8 1.2 1.2 2.7 3.9| 34.1 9.8| 13.3| 16.1 7.1 9.8 .0 | 100.0

50 CH Ol
1.4 .6 3.4 5.7 3.7| 354 10.0| 114 157 5.4 71 .0 | 100.0
5] s9/00e .0 .0 2.0 .0 0| 32.0 8.0 8.0| 32.0 4.0| 14.0 .0 | 100.0
%: 44 4 .0 1.7 6.1 3.9 33.2 9.2 16.2 14.8 4.8 9.6 .0 | 100.0
= s 7 Z 1.5 .5 5 2.4 29| 31.2 9.8| 156 19.0 3.9| 127 .0 | 100.0
S0 EY 1.0 .3 1.7 4.1 55| 26.2 9.0 19.0| 19.3 6.6 7.2 .0 | 100.0
o3 = 1.6 1.0 3.5 5.4 3.2 30.5 12.1 13.3 14.6 7.9 7.0 .0 | 100.0
st 1.6 .0 .0 3.2 1.6 22.2| 111 | 222| 222 6.3 9.5 .0 | 100.0
£ E .0 .0 4.2 4.2 21| 479 146 8.3 6.3 4.2 8.3 .0 | 100.0

o 2

0 0 0 0 0 0 .0 0 0 0 0 0 0
Bmuw = & 0l 1.0 1.0 4.4 5.4 3.4 32.0 8.9 10.3 18.2 6.9 8.4 .0 | 100.0
’E’ j i 9 .3 9 2.9 28| 328 11.9| 159 16.6 5.0 10.0 .0 | 100.0
= ool 1.4 2 2.4 5.7 4.8| 26.3 86| 179 17.9 6.7 7.9 .0 | 100.0
BE Jl = 1.6 .0 4 4.0 4.0 26.2 10.3 15.9 18.7 7.5 11.5 .0 | 100.0
ES B = 1 1.2 .6 2.6 7.0 3.8 | 34.1 85| 155 13.7 5.0 8.2 .0 | 100.0
= 8@ F .9 1.7 3.5 1.7 2.6| 28.7| 183]| 13.9| 13.0 52| 104 .0 | 100.0
B & .0 .0 .0 0| 11.8]| 58.8 5.9 59| 17.6 .0 .0 .0 | 100.0
L ] .8 2 2.1 3.4 3.2 29.4 9.7 16.5 20.3 6.1 8.2 .0 | 100.0
B I 200 2+ 1.8 5 1.8 4.3 3.4 32.1 8.4| 124 17.0 57| 127 .0 | 100.0
2 ﬁ 200 ~ 30( 4 4 2.2 4.7 43| 26.0| 12.6| 17.9| 17.9 6.5 7.0 .0 | 100.0
% = 300 g+ 1.0 .3 1.9 3.8 2.9 34.3 9.6 17.0 17.0 5.4 6.7 .0 | 100.0
f 8 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0
Ba A E .0 4 4 4.9 75| 236 10.9| 20.2| 20.6 7.5 41 .0 | 100.0
i ord /& 7 .3 2.7 3.1 41 31.2 12.7 19.5 14.7 3.1 7.9 .0 | 100.0
= s k .0 .0 .0 2.4 0| 238| 214 11.9| 16.7| 11.9| 11.9 .0 | 100.0
Ha/se .8 .0 .8 4.0 1.6| 357| 10.3| 10.3| 23.8 4.8 7.9 .0 | 100.0
2F/8g 7 .0 .0 7 7| 11.8 29| 140 2241 16.2 | 30.9 .0 | 100.0
= /2 3.7 .0 3.0 3.0 3.7 44 .4 10.4 1.1 11.9 2.2 6.7 .0 | 100.0
Sh/ bt 2.0 1.5 5.0 9.4 1.5| 39.6 8.4| 12.4| 13.4 3.0 4.0 .0 | 100.0
f 8 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0
BmE M E 1.0 1.0 4.0 3.0 6.1 28.3 1.1 19.2 14.1 7.1 5.1 .0 | 100.0
g 51' oF /A .0 .6 1.3 3.8 3.1 30.0| 125| 244 144 2.5 7.5 .0 | 100.0
é = & 1 .0 .0 .0 2.7 41| 29.7| 14.9| 149]| 21.6 5.4 6.8 .0 | 100.0
&/se 4 .0 9 5.3 4.4 32.0 11.4 13.6 211 4.8 6.1 .0 | 100.0
2/ 4 .0 .0 4 9| 134 82| 14.7| 247| 152| 2241 .0 | 100.0
o= /38 35 5 4.0 5.0 45| 40.6| 10.9| 11.9| 104 3.0 5.9 .0 | 100.0
Sa/S bt 1.6 1.1 3.8 9.3 3.8| 39.3 74 13.1 14.8 2.2 3.8 .0 | 100.0
H==/01= .0 .0 4.3 4.3 4.3 39.1 4.3 26.1 8.7 .0 8.7 .0 | 100.0
f 8 .0 .0 0 .0 0 .0 .0 .0 .0 .0 .0 .0 .0
] & E 2 2 2 2.2 1.7 23.0| 11.5| 17.9| 22.8 8.1 12.0 .0 | 100.0
‘5-1 = 1 14 2 2.4 4.6 3.6| 353 8.9| 139 134 53| 11.0 .0 | 100.0
ff;q 82 {1 1.6 .8 3.5 6.4 5.6 | 33.1 10.4| 15.2| 157 4.3 3.5 .0 | 100.0
& o 3 2.3 .9 49| 10.0 6.3| 42.8 9.3| 13.7 6.5 1.6 1.9 .0 | 100.0
o s 2 .3 .0 2 N 1.5 16.2 10.5 17.3 27.0 10.2 16.0 .0 | 100.0
g FE.-! .0 .0 2.6 5.1 0| 30.8| 12.8| 12.8| 20.5 7.7 7.7 .0 | 100.0
A/ =2 7 7 7 2.1 50| 51.8| 11.3| 156 9.2 7 2.1 .0 | 100.0
sk Lt et 2.3 1.2 49| 11.2 7.2| 40.9 9.8| 13.0 5.8 1.4 2.3 .0 | 100.0
ar = .3 .0 .3 .8 1.4 12.5 8.3 14.7 30.0 13.3 18.3 .0 | 100.0
ol & & 1.6 .0 .0 3.2 3.2| 194 9.7 | 17.7| 19.4| 11.3| 145 .0 | 100.0
el i 7 2 1.4 1.9 2.6| 385| 12.3| 18.3| 15.8 2.6 5.8 .0 | 100.0
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A0 ARCH AR ABCH esg 8
EERE S5 & S58 & S5 & S58 & S5 &
N % N % N % N % N % N %
RS A 8.2 748 6.2 8 §] 700.0
2’ o Xt 9.2 72.8 17.5 5 0 100.0
of Xt 7.2 76.8 14.9 1.0 2 100.0
B o 20 o 8.2 79.8 1.3 7 0 100.0
g 30 cH 7.6 74.9 17.2 3 0 100.0
= 40 cH 9.4 72.9 16.5 8 4 100.0
50 f O 4t
7.7 72.0 19.1 1.1 0 100.0
B = =9/01/U e 20.0 68.0 12.0 .0 0 100.0
g g o 9.2 69.0 21.0 4 4 100.0
2B s 2 28 8.3 78.5 1.7 1.5 0 100.0
30l E 2 et 7.9 76.9 14.8 3 0 100.0
HyFER 6.0 75.6 17.5 1.0 0 100.0
& A4 9.5 81.0 7.9 1.6 0 100.0
2 X 4.2 68.8 27.1 .0 0 100.0
2 =2 ¢
0 0 0 0 0 0
B = = o st 1.3 71.9 15.8 1.0 0 100.0
= in] B 7.8 77.5 14.0 7 .0 100.0
== = ol & 7.2 72.5 19.4 7 2 100.0
B = = W 9.1 79.4 10.7 4 4 100.0
i - B il 6.4 70.3 21.9 1.5 0 100.0
= @ o= 1 3.5 79.1 15.7 1.7 0 100.0
ol Bt & n 5.9 82.4 1.8 .0 0 100.0
2 il 10.1 74.4 15.2 2 0 100.0
B Ot 200 g+l Olet 8.6 77.4 13.1 9 0 100.0
T g- 200 ~ 300 0] 8.7 74.0 16.8 4 0 100.0
8- 300 9+ Ol4t 6.7 72.4 19.6 1.0 3 100.0
2 = g 0 .0 0 .0 0 .0
B2 A E 8.6 74.5 16.9 .0 0 100.0
= - oL /&l 3.8 771 17.5 1.4 3 100.0
= 2 2l 21.4 76.2 2.4 .0 0 100.0
Ha/sg/5= 8.7 77.8 12.7 8 0 100.0
ZE/EL/H= 19.9 78.7 7 7 0 100.0
h=/8e 5.9 66.7 26.7 7 0 100.0
SAYSA/HY 45 72.8 21.8 1.0 0 100.0
2 = g 0 .0 0 .0 0 .0
B = M = 6.1 72.7 19.2 2.0 0 100.0
g X oL & /E Il 5.6 76.9 16.9 0 6 100.0
B 2 2 9.5 81.1 9.5 .0 0 100.0
ha/zg/z= 7.9 76.8 14.5 9 0 100.0
ZE/HY/HE 16.0 81.0 2.6 4 0 100.0
h=/8e 5.9 65.3 28.2 5 0 100.0
SAYSA/HY 4.4 72.1 21.9 1.6 0 100.0
HZ=/01=/81 2 4.3 73.9 21.7 .0 0 100.0
2 = g 0 .0 0 .0 0 .0
& ol X ] 12.3 78.4 8.8 2 2 100.0
e¢ = [ 7.2 75.5 16.3 1.0 0 100.0
== ] & 4.8 70.1 24.0 1.1 0 100.0
B’ 16 o & = 1.9 63.9 32.9 1.4 0 100.0
e e 2 8 141 82.7 2.9 3 0 100.0
g“e a g 2 2.6 79.5 17.9 0 0 100.0
I A REY 4.3 74.5 19.9 7 7 100.0
& Xl T = 3.2 57.6 37.5 1.7 0 100.0
Q 2 ol = g 18.1 78.1 3.6 3 0 100.0
B ol B ® g 8.1 79.0 12.9 .0 0 100.0
el Ct 3.9 85.4 10.0 5 2 100.0
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= Ct = Ct StCt celct teltt s &
[est s | Rastd | Radd | Rad Y | kst s | Rss d# | fas @
N % N % N % N % N % N % N %
]| A 3.7 26.8 60.8 7.5 1.2 0 100.0
2 o Xt 4.1 28.2 56.0 10.4 1.4 0 100.0
ol Xt 3.3 25.5 65.5 4.7 1.0 0 100.0
B o 20 u] 2.4 23.3 64.0 8.6 1.7 0 100.0
e 30 o 4.3 27.7 56.8 10.2 1.0 0 100.0
= 40 o] 3.9 27.5 59.2 7.5 2.0 0 100.0
50 T Ol 4
4.0 28.6 62.9 4.3 3 0 100.0
B = =9/01/2Y 4.0 10.0 84.0 2.0 0 0 100.0
= - g oo 3.5 31.0 53.7 9.6 2.2 0 100.0
= 2=z 2z 3.9 22.4 63.9 8.8 1.0 0 100.0
3ol €22t 2.8 27.2 59.3 10.0 7 0 100.0
I E =R 4.4 29.8 61.6 3.2 1.0 0 100.0
& o 3.2 23.8 61.9 7.9 3.2 0 100.0
2 = 4.2 25.0 60.4 10.4 0 0 100.0
o =2 ch
0 0 0 0 0 0 0
) £ = 0 o 2.0 24.6 70.4 3.0 0 0 100.0
= 2 & 4.1 26.8 61.3 6.7 1.0 0 100.0
== W= ol & 3.8 28.0 55.5 10.8 1.9 0 100.0
BE = m 2.4 27.4 62.7 6.0 1.6 0 100.0
i - = m} 4.4 30.0 53.4 1.7 6 0 100.0
= 2 ox om 5.2 23.5 65.2 4.3 1.7 0 100.0
I E 5 1 5.9 17.6 70.6 0 5.9 0 100.0
2 m] 3.4 25.4 63.8 6.3 1.1 0 100.0
B Ot 200 g+l O]2 3.6 26.0 61.1 8.4 9 0 100.0
T 200 ~ 300 O]2t 4.5 24.4 62.6 7.0 1.6 .0 100.0
8 300 g+ Ol 2.6 31.4 58.0 7.1 1.0 0 100.0
2 g 0 0 0 0 0 0 0
B A M g 1.5 31.5 59.2 7.1 7 0 100.0
= oA /A 3.4 29.5 60.6 5.1 1.4 0 100.0
= =l 2 0 28.6 64.3 7.1 0 0 100.0
H&/sY/E= 4.0 18.3 69.8 6.3 1.6 0 100.0
AF/EY/EE 3.7 12.5 75.0 8.8 0 0 100.0
/3= 5.2 31.9 50.4 10.4 2.2 0 100.0
SA/S AR 6.4 28.2 54.5 9.4 15 0 100.0
2 g 0 0 0 0 0 0 0
B = M g 6.1 24.2 61.6 5.1 3.0 0 100.0
X o E /Ol 6 28.8 64.4 4.4 1.9 0 100.0
=h =l 2 1.4 28.4 62.2 8.1 0 0 100.0
H&/BY/ES 2.6 25.0 66.7 5.3 4 0 100.0
/MG EE 3.5 19.5 69.3 7.4 4 0 100.0
/3= 6.4 32.7 48.5 10.4 2.0 0 100.0
S/ SR 4.9 31.1 51.4 1.5 1.1 0 100.0
HIZ=/01=/8H 2l 0 26.1 69.6 4.3 0 0 100.0
f 8 € 0 0 0 0 0 0 0
B 0l z Cl 2.9 21.3 66.7 8.1 1.0 0 100.0
a4 B3 = 4.3 24.2 61.2 9.1 1.2 0 100.0
e= ] % 3.7 35.7 54.1 5.1 1.3 .0 100.0
B 16 o 3 4.6 36.8 49.1 8.1 1.4 0 100.0
ua o2 o3 2.2 20.7 69.6 7.0 5 .0 100.0
2E A e 2 5.1 23.1 64.1 5.1 2.6 0 100.0
oA/ esy 6.4 22.7 59.6 8.5 2.8 0 100.0
B X 8 U e g 4.9 41.2 44.1 8.6 1.2 0 100.0
4z o F g 2.8 20.8 70.6 5.0 8 .0 100.0
S e Y 4.8 21.0 58.1 12.9 3.2 0 100.0
9 Ct 3.2 21.1 66.6 7.9 1.2 .0 100.0




= FE d5 Elicte &0l YsUICH
00EMNA = =28 22 432 HEAN 24LIN?

Uk B4

Vg 0% 23

g 02 &3

NE FJ B39 [ 0 B3

NEIRE EIUN-UK

B IR > 8

BI00 AR B3 L2 B 090 0 B9

7
EER ETEER EFEER
2o 82 | 2ot | 2ot 84 | =9t g
ol | ol agsl | o &=s | ol @3
Zeom | e o | OEZ | nEE) | mozga
olCk oIt olCt olCk g esg 8121
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N % N % N % N % N % N % N %
S| 6.7 321 35.7 134 2.2 0 100.0
& o Xt 7.5 33.1 36.0 13.2 10.2 0 100.0
of X 5.9 311 35.4 13.6 14.1 0 100.0
o 20 o 48 25.7 36.0 17.8 15.8 0 100.0
30 o 5.3 35.3 33.7 11.9 13.9 0 100.0
40 o 8.2 34.1 33.3 13.3 11.0 0 100.0
50 Oh O &
8.3 33.1 38.9 11.1 8.6 0 100.0
S01/01el/2 Y 2.0 32.0 46.0 16.0 4.0 0 100.0
Ty 5.7 34.9 31.0 12.7 15.7 0 100.0
g=zze 6.8 33.2 34.1 13.7 12.2 0 100.0
s ol € 2 et 8.6 30.0 345 15.2 11.7 0 100.0
FEFE R 6.0 311 38.7 12.1 12.1 0 100.0
st o 1.6 27.0 39.7 175 14.3 0 100.0
e x 14.6 39.6 35.4 6.3 42 0 100.0
o =2 (=3
0 0 0 0 0 0 0
ml = = o 3 8.9 34.0 35.5 13.3 8.4 0 100.0
= | = 4.8 311 36.6 14.2 13.3 0 100.0
= oE o Y 8.1 325 34.4 12.4 12.4 0 100.0
= o £ 1 4.0 31.0 39.3 15.1 10.7 0 100.0
2 ] 8.2 35.3 30.9 11.1 14.6 0 100.0
B 3 F 1 7.8 27.0 426 8.7 13.9 0 100.0
o E s 1 11.8 47.1 29.4 5.9 5.9 0 100.0
e ] 6.6 311 35.7 15.6 11.0 0 100.0
o 200 o8l Olgk 7.5 30.3 335 12.0 16.7 0 100.0
& 200 ~ 300 012 47 28.3 39.9 16.1 11.0 0 100.0
= 300 B8 0l 4t 8.3 40.1 32.7 11.5 7.4 0 100.0
e 2 g 0 0 0 0 0 0 0
2 M = 5.2 36.3 42.3 10.1 6.0 0 100.0
ol @ /ol 4.8 31.2 38.4 14.4 1.3 0 100.0
2 2l 0 21.4 33.3 21.4 23.8 0 100.0
HE/EL/ES 5.6 27.0 34.9 15.9 16.7 0 100.0
YF/EY/EE 3.7 235 45.6 19.9 7.4 0 100.0
We/E= 8.1 36.3 26.7 8.1 20.7 0 100.0
SA/2A/EY 14.4 36.1 23.3 12.4 13.9 0 100.0
e 2 g 0 0 0 0 0 0 0
= A = 7.1 29.3 475 10.1 6.1 0 100.0
A ord /ol 4.4 35.0 38.8 10.6 1.3 0 100.0
= 2 2l 2.7 21.6 37.8 18.9 18.9 0 100.0
HE/E/E= 5.3 29.8 36.4 14.0 14.5 0 100.0
YF/HY/HS 3.9 7.7 39.8 19.9 8.7 0 100.0
We/E= 10.4 38.1 26.7 7.9 16.8 0 100.0
S/ N/EY 115 36.6 28.4 13.1 10.4 0 100.0
HE/0I=/0H el 4.3 34.8 435 8.7 8.7 0 100.0
e 2 g 0 0 0 0 0 0 0
0l a 2 2.7 27.2 40.2 18.6 11.3 0 100.0
G = = 7.4 30.9 34.5 10.6 16.5 0 100.0
2 2 * 10.1 38.7 32.0 10.9 8.3 0 100.0
16 o & ® 12.7 42.4 27.1 6.0 1.8 0 100.0
& L e & 2.6 24.0 42.9 20.4 10.2 0 100.0
A 2 g 2 7.7 30.8 33.3 12.8 15.4 0 100.0
R/ 22 5.0 34.8 32.6 7.1 20.6 0 100.0
x s U oat g 14.4 42.1 25.6 7.5 10.4 0 100.0
g o o= g 3.6 25.0 40.0 21.4 10.0 0 100.0
g e FY 4.8 27.4 452 8.1 145 0 100.0
2! ct 3.2 30.6 38.7 12.3 15.1 0 100.0
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g = 208 759 273 33 8 79 0 700.0
& = Xt 23.4 455 19.0 46 5 7.0 0 100.0
o Xt 18.3 46.3 23.6 2.0 1.0 8.8 0 100.0
o 20 o 223 428 19.5 3.4 7 1.3 0 100.0
30 o 221 485 18.5 2.6 1.0 7.3 0 100.0
40 o 22.4 447 23.9 2.7 8 5.5 0 100.0
50 Of Ol &
17.4 47 1 23.4 4.0 6 7.4 0 100.0
591/019/2 18.0 62.0 12.0 2.0 0 6.0 0 100.0
oy o 21.4 45.4 223 3.9 1.3 5.7 0 100.0
g=zze 22.4 42.9 19.0 4.4 1.5 9.8 0 100.0
solE2a 25.9 44.8 16.6 4.1 3 8.3 0 100.0
FEFEE 15.6 476 26.3 1.3 6 8.6 0 100.0
st o 25.4 46.0 19.0 3.2 0 6.3 0 100.0
e x 12.5 39.6 35.4 42 0 8.3 0 100.0
e 2 g
0 0 0 0 0 0 0 0
i = = ol & 11.8 44.8 27.1 5.9 1.0 9.4 0 100.0
= 2 = 225 45.6 20.7 2.6 1.0 7.6 0 100.0
= o= oy 23.0 46.9 19.4 2.9 2 7.7 0 100.0
= I = 23.8 488 17.1 2.8 8 6.7 0 100.0
g i 21.6 43.4 222 35 6 8.7 0 100.0
B 3 = 1 20.0 41.7 27.0 2.6 0 8.7 0 100.0
JE B R 17.6 47 1 235 0 0 11.8 0 100.0
e i 19.0 47 1 21.6 3.6 1.1 7.6 0 100.0
It 200 gHel Olgk 222 40.0 22.9 2.3 9 11.8 0 100.0
& 200 ~ 300 Ol 18.6 51.6 19.7 3.8 7 5.6 0 100.0
= 300 2k21 04t 221 46.2 215 3.8 6 5.8 0 100.0
e g g 0 0 0 0 0 0 0 0
2 M 2 29.2 431 19.1 3.0 7 4.9 0 100.0
o d /Y0l 12.3 54.1 26.0 2.4 3 48 0 100.0
2 & 28.6 45.2 7.1 7.1 2.4 9.5 0 100.0
Ha/Ee/Es 15.1 51.6 17.5 5.6 3.2 7.1 0 100.0
2E/ELY/ES 33.1 485 11.0 2.2 0 5.1 0 100.0
h=/2= 20.7 36.3 19.3 7.4 0 16.3 0 100.0
SA/SA/EY 15.8 39.1 31.2 5 5 12.9 0 100.0
2 2 g 0 0 0 0 0 0 0 0
= M = 222 39.4 26.3 3.0 1.0 8.1 0 100.0
a o E /Y0l 15.0 51.9 23.8 1.9 6 6.9 0 100.0
= 2 & 17.6 54.1 17.6 1.4 1.4 8.1 0 100.0
HE/EL/ES 215 50.0 17.1 35 2.2 5.7 0 100.0
2E/ELY/ES 30.7 46.3 15.2 3.9 0 3.9 0 100.0
H=/2= 18.8 40.6 23.8 45 0 12.4 0 100.0
SA/SM/EY 15.3 42.1 27.9 2.2 5 12.0 0 100.0
HZ=/01=/8Hl 217 39.1 26.1 8.7 0 4.3 0 100.0
2 2 g 0 0 0 0 0 0 0 0
bS] 2 28.7 488 14.0 2.9 1.0 47 0 100.0
= < 18.0 475 20.4 2.6 2 11.3 0 100.0
2 % 15.5 41.1 30.4 4.3 1.1 7.7 0 100.0
o 3 = 13.9 42 1 315 3.2 5 8.8 0 100.0
L o2 277 498 13.4 2.9 9 5.3 0 100.0
2 g oz 25.6 51.3 10.3 0 2.6 10.3 0 100.0
A/ 28y 12.1 39.7 26.2 5.7 7 15.6 0 100.0
B U2t g 14.7 38.3 34.3 4.3 3 8.1 0 100.0
BoF g 29.2 478 13.9 3.6 8 47 0 100.0
OB E 33.9 452 9.7 0 48 6.5 0 100.0
ol ct 16.9 50.6 18.8 2.6 5 10.7 0 100.0
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N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N%

EREREE] 56| 49| 12.7| 21.1| 17.0| 25.4] 48] 53| 1.8 7 1.0 0] 100.0

N 75| 46| 132| 19.2| 156| 26.1| 49| 48| 25 3| 1.2 .01 100.0

ol 38| 52| 121 229| 183| 247| 46| 59| 1.1 5 8 .01 100.0

B 20 38| 51| 17.1| 202 151| 250| 31| 65| =24 71 1.0 .01 100.0

3& 30 59| 50| 129| 215| 188| 228| 46| 50| =26 o| 1.0 .01 100.0

= 40 6.7| 43| 129| 184| 165| 286| 55| 4.3 8 8| 1.2 .01 100.0
50 T O

6.0 51| 86| 23.4| 174]| 257| 57| 54| 1.4 3 9 01 100.0

B s2/02] 80| 12.0| 14.0| 200| 16.0| 220| 6.0| 20 0 0 0 .01 100.0

E@ oo 57| 52| 109| 231 109]| 30.1| 66| 52| 1.3 4 4 .01 100.0

= = =2 2| 98| 29| 137| 156]| 146| 27.8| 63| 44| 15| 10| 24 .01 100.0

so0lE49 66| 62| 141| 231| 19.0| 21.7| 24| 45| 24 0 0 .01 100.0

b ® = 29| 38| 12| 21.9| 187 241| 57| 70| 19 6] 1.3 .01 100.0

&t 16| 48| 143| 254 222| 19.0 0| 63| 32 0| 32 .01 100.0

2 21| 42| 83| 125| 271 85.4| 21| 63| 2.1 0 0 .01 100.0

0 0 0 0 0 0 0 0 0 0 0 0 0

BR = = ol 49| 54| 74| 207| 17.7] 276| 54| 69| 1.0 5| 25 .01 100.0

g 2 6.4| 45| 124| 202| 154| 275| 55| 52| 1.6 5 9 .0 100.0

== o =zo| 48| 53| 156| 225| 189| 21.5| 33| 48| 26 2 5 .01 100.0

BE J = 75| 44| 135| 21.0| 155| 226| 56| 67| 16 4] 12 .01 100.0

g@ = 58| 58| 105| 201 15.7| 265| 47| 58| 2.3 6] 20 .01 100.0

= o= 78| 26| 157| 21.7| 13.9| 270| 52| 43 0 9 9 .01 100.0

ol BB 0 0| 11.8] 59| 176| 412| 59| 11.8] 59 0 0 .01 100.0

2 40| 53| 131 222| 195| 252| 42| 42| 1.9 2 2 .01 100.0

BOJb 20082 | 84| 54| 102| 16.1| 140| 303| 54| 61| 1.8 50 1.8 .01 100.0

& 200~30] 45| 45| 13.0| 229| 195| 235| 43| 56| 1.3 2 7 .01 100.0

@ %00e#| 32| 48| 157 256| 176| 21.2| 45| 88| 26 6 3 .01 100.0

? = 0 0 0 0 0 0 0 0 0 0 0 0 0

B2 A 7| 60| 150]| 232| 228| 187| 67| 37| 3.0 0 0 .01 100.0

a g 22 /Y 34| 24| 123| 26.7| 175| 27.4| 31| 51| 1.0 7 3 .01 100.0

= 2 95| 48| 167 71| 11.9| 286| 95| 24 0| 48| 48 .01 100.0

ta/zg| 56| 48| 143] 151 159 302| 24| 79| 18 0| 24 .01 100.0

zz/dgl 147 132| 147| 147]| 162] 132] 44| 5.1 7 7| 22 .01 100.0

/g 74| 15| 59| 193] 104| 363| 59| 89| 44 0 0 .01 100.0

sa/2al 69| 40| 11.4| 223| 153| 287 45| 45| 1.0 0| 15 .01 100.0

2 = 0 0 0 0 0 0 0 0 0 0 0 0 0

BE A 3.0 40| 121 232| 212] 172] 91| 51| 5.1 0 0 .01 100.0

X old /A 19| 13| 138 27.5| 225| 225| 34| 44| 25 6 0 .01 100.0

g 2 68| 27| 81| 216| 189]| 284| 54| 27| 14| 27| 14 .01 100.0

ta/zg|l 35| 48| 180| 180| 184 259| 44| 48 4 0| 1.8 .01 100.0

zz=/8g| 10.0| 108| 13.0| 186| 14.3| 208| 43| 52| 13 4] 13 .01 100.0

W=/ 84| 20| 74| 203| 11.9| 832| 50| 79| 3.0 0] 1.0 .01 100.0

sa/2al 44| 49| 126| 224| 175] 27.3| 44| 49| 1.1 0 5 .01 100.0

Mz=o=[ ol 87| 13.0]| 17.4| 87| 304| 43| 87 0| 43| 43 .01 100.0

2 = 0 0 0 0 0 0 0 0 0 0 0 0 0

gol & 59| 88| 17.2| 257| 16.7| 145| 39| 54 7 2] 1.0 .01 100.0

gg = 74| 29| 103]| 17.3| 151| 36.2| 43| 3.1 1.7 5| 1.2 .0 100.0

ee = 32| 29| 104 203| 195| 253| 61| 77| 3.2 5 8 .01 100.0

B16 0 3l 51| 25| 10.0| 19.4| 181] 31.3| 58| 49| 2.1 2 7 .01 100.0

he = 2 73| 75| 155| 226]| 16.3| 18.7| 39| 48| 14 7| 14 .01 100.0

AN 2 o 26| 26| 205| 256| 205| 23.1| 26| 26 ol o 0 0] 100.0

na/el 7| 21| 71| 184 156| 36.2| 57| 99| 35 0 7 .01 100.0

BX 8 U2 46| 26| 81| 182| 176| 340| 52| 66| 23 0 9 .01 100.0

42 e = 83| 81| 16.4| 19.7| 17.8| 161 | 39| 56| 1.9 8| 14 .0 100.0

- 2B 3| 13| 32| 129 258| 11.3| 194| 65| 48| 16 0| 32 .01 100.0

o 32| 44| 132 239 16.7| 271| 49| 42| 1.4 5 5 .0 100.0
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EREREE] 8 9] 17| 43| 66| 224 178| 195| 133| 56| 7.3 0]100.0
gE oy 8| 12| 19| 46| 76| 207| 182| 187| 11.4| 66| 83 01 100.0
ol 7 7| 15| 41| 56| 241| 17.3| 203| 151| 46| 6.2 01 100.0
Bo 20 1.0 7| 21| 48| 58| 192 21.2| 168| 161| 72| 5.1 01 100.0
E@ 30 10| 10| 13| 40| 59| 267| 149| 198| 132| 56| 6.6 01 100.0
= 40 8 8| 12| 35| 94| 220 220| 169| 98| 55| 82 01 100.0

50 T4 O

3| 11| 20| 49| 57| 21.7| 143| 23.4| 13.4| 43| 89 01 100.0
B s29/09 0 0| 20| 40| 40| 100| 16.0| 20.0| 20.0| 10.0| 14.0 .0 100.0
E@ U= ol 22| 17| 48| 92| 275| 140]| 179| 11.4| 31| 83 .0 100.0
= 2 =22z 15| 10| 24| 49| 49| 229 190| 137| 127| 83| 88 .0 100.0
stoled 17 3| 10| 41| 79| 179 21.7| 200]| 131| 76| 45 .01 100.0
I F 3 0| 13| 38| 60| 267| 181 21.9| 124| 35| 6.0 .0 100.0
&t 0| 32| 82| 48| 32| 175| 12.7| 238| 175| 63| 7.9 .0 100.0
2 o) 21| 21| 42| 42| 146| 125| 27.1| 188| 2.1| 125 .0 100.0
0 0 0 0 0 0 0 0 0 0 0 0 0
BD = = 0 0| 10| 20| 59| 34| 21.7| 143| 236| 13.8| 44| 9.9 01 100.0
;‘fj in} 1.0 7 1.7 2.8 6.9| 240| 19.2] 181 13.8]| 5.0 6.7 0 100.0
2 o=z o 70 12| 1.4] 57| 77| 206| 175| 19.4| 122| 69| 6.7 01 100.0
BZE I = 4| 12| 28| 60| 71| 234| 127| 179] 139| 60| 87 01 100.0
g@ 2 6 9| 26| 35| 52| 233| 155| 195| 140| 76| 7.3 01 100.0
= 3o 1.7 0 o| 43| 52| 26.1| 209| 183| 122| 26| 87 01 100.0
| & = 0| 59 0 0| 11.8] 176| 59| 11.8| 235| 11.8] 11.8 01 100.0
2 8 8 8| 42| 74| 205| 21.8| 209| 123| 44| 59 01 100.0
Bot 2008 | 16| 1.4| 23| 52| 59| 21.3| 13.8| 154 149| 72| 111 01 100.0
72 200~30 4 9| 16| 36| 81| 247| 184| 200| 119| 47| 58 0 100.0
g - 300 0 3| 10| 42| 54| 208| 224| 247| 128| 45| 38 01 100.0
e = 0 .0 0 0 0 .0 0 0 .0 0 0 0 0
B A 0 4 7| 52| 79| 208| 258| 243| 94| 19| 15 01 100.0
o od /g 3| 10 7| 41| 65| 26.0| 205| 21.9| 11.3| 34| 41 01 100.0
28 o 0 0 0 0| 48| 262| 16.7| 143| 167| 71| 143 01 100.0
Ha/sg 8| 24| 24| 95| 103| 175| 19.8| 135| 143| 40| 56 01 100.0
az/dgl 15| 22| 29| 29| 59| 88| 81| 16.9| 140]| 14.0]| 228 01 100.0
wr/ygd 20 7| 52| 30| 59| 237| 81| 148| 193] 59| 11.1 01 100.0
sa/Sa 10 0| 10| 30| 40| 272| 149| 193] 153| 84| 59 01 100.0
2 = 0 0 0 0 0 0 0 0 0 0 0 0 .0
BE A 0 0 o| 30| 81| 202| 232| 21.2| 152| 40| 5.1 0 100.0
g od /g o 19 6| 44| 50| 269| 200| 26.9| 106 6| 3.1 0 100.0
g 2 0 0 0| 27| 41| 230/ 270| 162| 162| 41| 68 01 100.0
H&/zg 4 9| 13| 79| 101] 193 21.9| 19.7| 12.7]| 26| 3.1 01 100.0
n=/EY 9| 13| 26| 26| 69| 169| 108]| 186]| 11.7| 11.3| 165 01 100.0
=2 /4d 15| 10| 40| 35| 59| 27| 11.9| 153| 153| 50| 9.9 01 100.0
SasM 1 0 5| 38| 44| 268| 175| 202| 137| 87| 33 01 100.0
H=/ol=| 43| 43| 43| 87| 43| 130 304| 87| 130| 43| 43 01 100.0
T 0 0 0 0 0 0 0 0 0 0 0 0 0
Bol & 5| 15| 22| 44| 78| 19.1| 157| 196]| 13.0| 76| 86 01 100.0
2e = 1.0 7| 17| 43| 60| 259| 156 17.7| 13.2| 48| 9.1 0 100.0
S€ = 8 50 11| 43| 59| 22.1| 224| 21.3| 136| 43| 3.7 01 100.0
B 16 o 3l 9 9| 25| 58| 72| 23.1| 199| 21.3| 11.1| 25| 48 01 100.0
e = e 9] 1.0 9| 34| 61| 20.1| 158| 19.7| 151| 75| 95 01 100.0
%X'E 2 o 0 0 o| 26| 51| 231 205| 17.9| 77| 179| 5.1 0] 100.0
/= 0 7| 28| 43| 71| 298| 18.4| 135| 135| 35| 6.4 01 100.0
BX s U 12 6| 26| 61| 72| 254| 21.3| 19.0| 98| 26| 43 01 100.0
a2 o = 8| 17| 14| 33| 64| 21.7| 156| 189| 122| 75| 106 0| 100.0
S° e s 0 o 16| 16| 129| 21.0| 145| 97| 61| 129| 97 01 100.0
ot 5 7| 12| 42| 53| 209| 172| 21.8| 165| 53| 65 0 100.0
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S° e B 16| 16| 32| 16| 129| 290| 129] 145| 11.3| 65| 48 011000
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2 g2 ¢ 0 0 0 .0 0 0
B X 9 17.9 77.5 4.4 2 0 100.0
:% = < 12.5 76.7 10.1 7 0 100.0
s =l = 9.3 74.4 14.9 1.3 0 100.0
& o 3 =& 6.3 71.8 20.1 1.9 0 100.0
th » o2 3 20.4 77.9 1.7 0 0 100.0
Q“E a o9 2z 12.8 79.5 7.7 0 0 100.0
I/ ey 5.7 82.3 1.3 7 0 100.0
8Lt o2t g 6.3 70.3 21.3 2.0 0 100.0
ol = g 21.7 76.7 1.7 0 0 100.0
ol B Mo 21.0 71.0 8.1 .0 0 100.0
gt o 10.9 81.4 7.2 5 0 100.0
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216-1. NEERSESROEISNCORS=E))
g, &= EXIot LoHE 20I2tD d26tAlE Olss 22U

qlba
WEETE] A ER
= ol A o s =2
2ty 2ol 1 =20 Y 91 20010t 0
= 0/Zo0f sg= 0l ol 20 20 &
& 310lCt = 2olct 210lCt 2401Ct et %]
258 S5 o 258 S5s o 258 & S5s o
N % N % N % N % N % N %
EEES] A 36.0 23.8 21.2 18.9 i 700.0
e o Xt 33.8 24.6 20.0 21.3 2 100.0
of Xt 38.0 23.1 22.3 16.6 0 100.0
B o 20 o 37.8 24.4 25.2 12.2 4 100.0
g - 30 ] 36.4 21.9 22.3 19.3 0 100.0
< 40 o 35.1 22.8 16.7 25.4 0 100.0
50 Cf O &
34.7 25.6 20.1 19.5 0 100.0
IS =2/01/Ue 45.8 27.1 12.5 14.6 0 100.0
g - g o 34.3 22.2 16.2 27.3 .0 100.0
= 2 2 22 37.6 24.2 19.9 18.3 0 100.0
5ol E 2 gt 34.6 23.1 23.8 18.1 4 100.0
EFER 35.0 25.8 23.3 15.9 .0 100.0
& & 37.9 20.7 29.3 12.1 0 100.0
= = 38.1 21.4 19.0 21.4 0 100.0
=] = =3
0 0 0 0 0 0
] = = 0 o 35.7 24.2 19.2 20.9 0 100.0
= 2 ES 34.8 24.2 22.3 18.7 0 100.0
== o = o & 37.9 23.1 20.6 18.1 3 100.0
IS £ n 37.9 27.2 18.7 16.2 0 100.0
a - = il 35.8 19.3 23.6 21.3 0 100.0
= 2 ox 1 29.7 25.7 22.8 21.8 0 100.0
B 5 R 33.3 16.7 25.0 25.0 .0 100.0
< il 36.7 24.8 20.4 17.9 2 100.0
B 200 e+l Ojer 35.1 25.5 21.7 17.7 0 100.0
Tt 200 ~ 300 0 33.8 24.1 22.3 19.5 3 100.0
B 300 eHel 0l &t 40.4 21.1 18.9 19.6 .0 100.0
2 =2 o 0 0 0 0 0 0
B A A 2 39.4 27.6 22.4 10.6 .0 100.0
= - ord /ol 30.5 22.8 23.6 23.2 0 100.0
= el 2 38.1 38.1 1.9 9.5 2.4 100.0
Ha/EY/ES 44.4 12.8 19.7 23.1 .0 100.0
LF/HY/HE 441 31.6 14.7 9.6 .0 100.0
/3= 31.9 22.4 17.2 28.4 0 100.0
SA/ 2R 28.7 18.3 27.4 25.6 .0 100.0
2 =2 ¢ 0 0 0 0 0 0
B = A s 32.6 29.1 23.3 15.1 0 100.0
a4 X o E /I 33.1 22.1 221 228 0 100.0
B Bl 2 33.3 37.7 20.3 7.2 1.4 100.0
Ha/EY/ES 415 18.4 20.3 19.8 0 100.0
I/ 39.0 31.6 18.9 10.5 .0 100.0
/3= 37.0 18.8 18.2 26.1 0 100.0
DA 2A/P Y 28.2 16.1 29.5 26.2 0 100.0
HM=/01=/612 38.1 33.3 9.5 19.0 .0 100.0
2 =2 o 0 0 0 0 0 0
B 0l x 2 38.0 23.7 20.3 18.0 0 100.0
§ § = [ 36.8 25.0 19.4 18.5 3 100.0
> = 2 % 32.5 22.6 245 20.4 0 100.0
B 16 o 3 & 35.9 17.2 23.1 23.4 3 100.0
ua o2 3 37.9 26.3 19.0 16.8 .0 100.0
%X'E a9 oz 36.1 25.0 25.0 13.9 0 100.0
oA Red 27.4 29.8 25.0 17.7 .0 100.0
B Xl T 32.7 20.7 241 22.6 0 100.0
ﬂ 2 o= o 39.8 28.8 18.9 12.4 .0 100.0
S - ol B ® ¢ 33.3 21.1 22.8 22.8 .0 100.0
o Ct 35.2 21.9 21.1 21.6 3 100.0
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B0l Hol | olA0rl | 2 RHE | FHEX
=22d 22 o R | a2 H
gisses | B0l | =D} oz sg
ceig 2t | sig 2t0 | dsiE 2t | ol )1Eg
olCH o oICH 2ol JIE esd 2]
f58 8 | gastd | fasd | 5% | gasd | 5 | |55 Y
N % N % N % N % N % N % N %
By e 32.0 16.0 240 28.0 0 0 100.0
2 E & Xt 36.2 13.0 24.6 26.1 0 0 100.0
o Xt 26.8 19.6 23.2 30.4 0 0 100.0
B o 20 cH 227 18.2 27.3 31.8 0 0 100.0
g 30 ol 32.4 26.5 17.6 23.5 0 0 100.0
= 40 il 333 1.1 14.8 40.7 0 0 100.0
50 O o &
35.7 9.5 33.3 21.4 0 0 100.0
B 5/0/2Y 0 50.0 50.0 0 0 0 100.0
= o9 38.7 9.7 19.4 32.3 0 0 100.0
= 2228 21.1 31.6 31.6 15.8 0 0 100.0
g0l e 33.3 20.0 20.0 26.7 0 0 100.0
HyFE 31.3 9.4 18.8 40.6 0 0 100.0
st o 20.0 0 60.0 20.0 0 0 100.0
e 3 50.0 16.7 33.3 0 0 0 100.0
f 8 €
0 0 0 0 0 0 0
=] =z 0 3 23.8 14.3 42.9 19.0 0 0 100.0
g 2 ES 36.0 20.0 12.0 32.0 0 0 100.0
= o = ol & 31.5 13.0 27.8 27.8 0 0 100.0
B & I s 47.1 5.9 17.6 29.4 0 0 100.0
2 = ] 34.0 17.0 21.3 27.7 0 0 100.0
= 3 = 1 28.6 14.3 28.6 28.6 0 0 100.0
o B E R 20.0 20.0 60.0 0 0 0 100.0
e ) 26.2 19.0 23.8 31.0 0 0 100.0
=) 200 ergl 0|t 32.6 8.7 39.1 19.6 0 0 100.0
T 200 ~ 300 0l gt 36.2 17.0 12.8 34.0 0 0 100.0
8 300 2r& 04 25.0 25.0 18.8 31.3 0 0 100.0
£ 8 ¢ 0 0 0 0 0 0 0
Gl Al £ 38.5 15.4 23.1 23.1 0 0 100.0
= o /F D 34.8 26.1 10.9 28.3 0 0 100.0
= % 2l 0 0 0 0 0 0 0
HaE/EY/ES 55.6 0 33.3 1.1 0 0 100.0
ZE/HY/HS 0 0 0 0 0 0 0
h=/3= 21.1 15.8 31.6 31.6 0 0 100.0
e 26.3 7.9 342 31.6 0 0 100.0
f 8 € 0 0 0 0 0 0 0
B = M £ 23.1 38.5 15.4 23.1 0 0 100.0
a4 el E /F 26.7 20.0 26.7 26.7 0 0 100.0
. 2 & 40.0 20.0 0 40.0 0 0 100.0
Ha/EY/E= 50.0 6.3 18.8 25.0 0 0 100.0
2E/HY/H= 66.7 33.3 0 0 0 0 100.0
h=/3= 29.7 13.5 24.3 32.4 0 0 100.0
e 26.5 8.8 35.3 29.4 0 0 100.0
H/01=/812 50.0 50.0 0 0 0 0 100.0
f 8 € 0 0 0 0 0 0 0
B Ol & 2 47.4 105 10.5 31.6 0 0 100.0
24 = & 222 17.8 26.7 33.3 0 0 100.0
A C + 34.4 16.4 26.2 23.0 0 0 100.0
E 16 o & & 31.6 147 24.2 29.5 0 0 100.0
td = 2 # 50.0 20.0 20.0 10.0 0 0 100.0
e 2 g 2 0 33.3 33.3 33.3 0 0 100.0
oA esd 29.4 17.6 235 29.4 0 0 100.0
B X 8 Lt et g 30.9 17.3 235 28.4 0 0 100.0
uz o x g 66.7 16.7 0 16.7 0 0 100.0
S OB g 20.0 20.0 40.0 20.0 0 0 100.0
8 ot 303 121 27.3 308 0 0 100.0
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217. OOEMNAE UsS X220k BtHl Jt20

L2 FR2I TGO E JHE AIS8 A2 2A0I2td 2L
al7
Iiorzo_r
8 ONE eBafel=
e DI QAN NS XS DIFGHES Holjo| &0l B0l 2

St 2= e ohE 235 [BE 2ol AT ONE| A | 2Se | B
o5t siiogst dieast Hieas dieas d|Ras HiRast dipast dieast dinast dleast o

N % N % N % N % N % N % N % N % N % N % N %

EERS IS 19.2 413 43 28.3 6.4 2 2 0 0 2] 100.0
28 g X o187 41.8 4.6 28.2 6.3 2 3 0 .0 0| 100.0
01 X 196 40.9 3.9 28.5 6.5 2 0 0 0 3| 100.0

Bmo 20 | 223 38.4 5.1 25.7 7.9 0 3 0 0 3| 100.0
5 30 t 205 40.9 3.6 26.1 8.6 3 0 0 0 0| 100.0
= 40 t  16.9 44.3 2.7 30.2 5.1 4 0 0 .0 4| 100.0

50 Of Ol 4

17.1 42.0 5.1 31.1 43 0 3 0 0 0| 100.0

B sg/0g/Yd 180 32.0 2.0 38.0 10.0 0 0 0 0 0| 100.0
g g 227 40.2 44| 262 5.7 0 4 0 0 4| 100.0
28 2224 i85 42.4 4.9 27.3 6.3 5 0 0 .0 0| 100.0
S0 EZ] 186 38.6 4.1 31.4 6.2 3 3 0 0 3| 100.0
dHFH 478 425 4.1 28.3 7.3 0 0 0 0 0| 100.0

& Ml 175 54.0 3.2 22.2 3.2 0 0 0 0 0| 100.0

2 =l 208 43.8 6.3 22.9 6.3 0 0 0 0 0| 100.0

2 =2 g

0 0 0 0 0 0 0 0 0 0 0

Bm = Z 0 8 197 39.9 44| 320 3.9 0 0 0 0 0| 100.0
g+ 2 E 187 415 57| 268 7. 2 2 0 0 0| 1000
== w=zo 4 196 41.9 2.2 28.7 6.7 2 2 0 0 5] 100.0
®Ws I = 1 210 425 44| 254 6.3 0 0 0 .0 4| 100.0
gg@ £ n| 172 42.9 2.9 29.2 7.0 6 3 0 0 0| 100.0
= @ o= o 217 37.4 5.2 27.8 7.0 0 0 0 0 9| 100.0
J B =& 1 59 471 5.9 29.4 1.8 0 0 0 0 0| 100.0

2 n[ 195 40.4 4.9 29.4 5.7 0 2 0 .0 0| 100.0

ot 2009 0 16.3 36.9 4.1 35.3 6.8 2 5 0 .0 0| 100.0
TE 200~3004 204 415 4.3 26.9 7.0 0 0 0 0 0| 100.0
@ o dooeE o) 215 47.4 45 20.5 5.1 3 0 0 0 6| 100.0
2 =2 g 0 0 0 0 0 0 0 0 0 0 0

BE A £ 180 47.9 6.4 21.0 6.4 0 0 0 .0 4| 100.0
= - o /I 202 41.8 6.8 22.6 8.2 0 0 0 0 3| 100.0
= Bl 2| 286 38.1 0 26.2 71 0 0 0 0 0| 100.0
WE/E/5  20.6 45.2 3.2 23.8 7.1 0 0 0 0 0| 100.0
I3/ 243 24.3 2.2 41.2 8.1 0 0 0 .0 0| 100.0
W=/88 178 44.4 1.5 34.8 1.5 0 0 0 0 0| 100.0
S22 13,9 39.6 2.5 36.6 5.4 1.0 1.0 0 0 0| 100.0

2 =g o 0 0 0 0 0 0 0 0 0 0 0

Bz A 2 212 34.3 10.1 28.3 5.1 0 0 0 0 1.0 100.0
A o E) 188 45.6 5.0 23.1 6.9 0 0 0 .0 6| 100.0
g < 2| 203 39.2 2.7 29.7 8.1 0 0 0 0 0| 100.0
WR/BE/H 171 48.7 2.6 23.2 8.3 0 0 0 0 0| 100.0
I3/ 242 34.6 74| 268 6.9 0 0 0 0 0| 100.0
W=/89 168 421 1.5 35.6 3.5 0 5 0 .0 0| 100.0
2a/2eHH 148 41.0 2.7 33.9 6.0 1.1 5 0 0 0| 100.0
H=/018/8 348 39.1 0 17.4 8.7 0 0 0 0 0| 100.0

2 =g o 0 0 0 0 0 0 0 0 0 0 0

gol & 2 216 41.2 3.7 26.5 6.4 0 2 0 .0 5| 100.0
;:-1;:; = =| 194 37.2 3.8 31.9 7.2 2 2 0 0 0| 100.0
== = > 163 46.1 5.3 26.4 5.6 3 0 0 0 0| 100.0
®ie o & & 137 42.6 3.7 32.4 6.7 5 5 0 0 0| 100.0
EH*Jm - 2 # 224 40.5 4.4 26.4 6.1 0 0 0 .0 2| 100.0
%I‘E a o 2z 179| 513 0| o282 2.6 0 0 0 0 0| 100.0
A/ 28] 227 38.3 6.4 | 241 7.8 0 0 0 0 7| 100.0

WA 8 Uty 1441 415 3.7 33.7 6.1 6 3 0 0 0| 100.0
a2 oow = gl 211 400 53| 258 75 0 0 0 0 3| 100.0
5° ez g 161 46.8 0 25.8 1.3 0 0 0 .0 0| 100.0
2 CHl 22.0 415 44| 265 5.1 0 2 0 0 2| 100.0
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q18

O @ O @ OhAl @ e

=0t 2 2 =0t& 2 Ui Lhog = 2

olCt 2i0(CH 210lC olCt 2sg B
sas sast # B sast # B sast #
N % N % N % N % N % N %
RS A 71 78.2 141 6 i 100.0
g o Xt 7.8 76.6 14.8 7 2 100.0
ol Xt 6.4 79.7 13.4 5 0 100.0
& ol 20 o 6.5 81.2 1.0 1.4 0 100.0
g 30 o 8.9 76.6 13.9 7 0 100.0
= 40 o 7.1 77.6 14.9 4 0 100.0
50 Of Ol &
6.0 77.4 16.3 0 3 100.0
RS =90/012/d 6.0 72.0 20.0 .0 2.0 100.0
e g o 5.2 79.0 14.8 9 0 100.0
2 E s =2 2 11.2 75.6 12.2 1.0 0 100.0
510l E 2 g 9.3 75.9 14.8 0 0 100.0
I F R 4.4 81.9 13.3 3 0 100.0
E 4 3.2 82.5 12.7 1.6 0 100.0
2 = 8.3 75.0 14.6 2.1 0 100.0
o =2 Ct

0 0 0 0 0 0
& 1 = = o 3t 7.9 76.4 15.8 0 0 100.0
52 In] = 5.7 81.2 12.3 7 2 100.0
s o = ol & 8.6 74.9 15.8 7 0 100.0
BE £ n 6.0 84.5 8.7 8 0 100.0
1 - = il 6.4 74.1 19.2 0 3 100.0
= 3 = 7.0 72.2 20.9 0 0 100.0
Jl B E R 23.5 471 23.5 5.9 0 100.0
(=] il 7.6 80.3 11.2 8 0 100.0
B O 200 9+ 0|gt 7.2 78.3 13.6 7 2 100.0
T2 200 ~ 300 0|2 5.4 82.7 1.2 7 0 100.0
g 300 2+l Ol 4t 9.3 715 18.9 3 0 100.0
2 g2 ¢ 0 0 0 0 0 0
B A s 7.1 80.5 12.4 0 0 100.0
= - ors /&l 3.1 79.1 16.4 1.4 0 100.0
= 2 2l 2.4 90.5 7.1 0 0 100.0
Ha/ze/52 6.3 77.0 15.9 0 8 100.0
E/E/HE 19.1 79.4 1.5 .0 0 100.0
h=/gs 8.1 74.8 16.3 7 0 100.0
Sa/SaEY 5.4 73.3 20.3 1.0 0 100.0
2 g ¢ 0 .0 0 .0 0 .0
] A s 6.1 76.8 15.2 2.0 0 100.0
S ol s /0l 4.4 76.3 18.1 1.3 0 100.0
= 2 2l 1.4 90.5 8.1 0 0 100.0
ha/zg/z= 4.8 82.0 12.7 0 4 100.0
ZE/HY/HE 13.4 82.3 4.3 0 0 100.0
/2= 7.4 71.3 20.8 5 0 100.0
SA/SAH Y 6.0 73.8 19.1 1.1 0 100.0
HIZ=/01=2/612l 13.0 73.9 13.0 0 0 100.0
2 g2 ¢ 0 .0 0 0 0 0
& ol X 9 1.5 78.9 9.3 2 0 100.0
24 = < 5.0 79.4 15.1 5 0 100.0
s = =l * 45 76.0 18.1 1.1 3 100.0
B 16 o 3 =& 3.0 72.2 23.1 1.4 2 100.0
;H‘%m ; i i 1.1 82.0 7.0 0 0 100.0
= 2 o9 2 5.1 84.6 7.7 2.6 0 100.0
& I/ ey 3.5 78.7 17.7 0 0 100.0
B Xl 8Lt o2t g 3.5 69.5 25.6 1.4 0 100.0
Q & ol o= g 13.1 79.4 7.5 0 0 100.0
B BI= == 14.5 77.4 6.5 1.6 0 100.0
gt o 3.9 84.2 11.4 2 2 100.0
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O EUZE | "o Us | 22 IE | 2 IAE | ASH | 80 2
SHSE2A | MOl 0| | HSE S | © B | U2 o | ZF 02t
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g 20|t OlCt 2i01CH olCH Ct 20ICH 28 S
a8t d | Rt d | REEtd | RS Y | RS Y | REE Y | REE Y | REE H
N % N % N % N % N % N % N % N %
] Al 23.0 37.6 31.5 7.9 0 .0 .0 100.0
& e Xt 22.5 36.6 31.4 9.5 0 .0 .0 100.0
O Xt 23.4 38.6 31.6 6.5 0 .0 .0 100.0
o 20 CH 24.6 35.5 30.9 9.0 0 .0 .0 100.0
30 CH 21.6 40.5 30.1 7.7 0 .0 .0 100.0
40 CH 21.8 36.1 33.3 8.8 0 .0 .0 100.0
50 CH O &
23.6 38.0 31.8 6.5 0 0 0 100.0
s8/01g/28e 30.8 30.8 28.2 10.3 .0 .0 .0 100.0
49 g 15.0 41.5 36.8 6.7 .0 .0 .0 100.0
= 2 Z e 24.7 37.1 30.9 7.3 .0 .0 .0 100.0
3ol E 2 et 26.7 36.8 25.9 10.5 .0 .0 .0 100.0
b8 =R 21.7 38.2 33.8 6.3 .0 .0 .0 100.0
& o 22.2 33.3 35.2 9.3 .0 .0 .0 100.0
< = 32.5 35.0 25.0 7.5 .0 .0 .0 100.0
8 €
0 0 0 0 .0 0 0 0
) s & 0| ot 28.7 33.9 32.7 4.7 .0 .0 .0 100.0
j ) ES 21.5 40.2 30.8 7.6 .0 .0 .0 100.0
= = 0l & 22.3 35.8 31.8 10.0 .0 .0 .0 100.0
ES Ja s 28.9 34.2 31.1 5.7 .0 .0 .0 100.0
= ) 18.1 39.5 341 8.3 .0 .0 .0 100.0
& @ = 1 24.2 36.3 30.8 8.8 .0 .0 .0 100.0
J B & 1 8.3 66.7 25.0 .0 .0 .0 .0 100.0
2 jmi 23.1 37.7 30.3 8.9 .0 .0 .0 100.0
ot 200 g+ Ojg 22.5 34.7 33.6 9.3 .0 .0 .0 100.0
$ 200 ~ 300 O] gt 23.4 40.7 28.5 7.4 .0 .0 .0 100.0
= 300 2+ Ol & 23.0 37.3 32.9 6.7 .0 .0 .0 100.0
£ 8 g .0 .0 .0 .0 .0 .0 .0 .0
kel A 2 26.9 41.5 25.6 6.0 .0 .0 .0 100.0
old /& 20.8 35.4 33.3 10.4 .0 .0 .0 100.0
B = 17.9 35.9 38.5 7.7 .0 .0 .0 100.0
H&/sE/E5 32.4 28.6 29.5 9.5 .0 .0 .0 100.0
S=/MG/ER 28.4 39.6 23.1 9.0 .0 .0 .0 100.0
th=/3= 17.9 36.6 38.4 71 .0 .0 .0 100.0
sa/26HEE 14.5 40.9 39.0 5.7 .0 .0 .0 100.0
£ 8 € .0 .0 .0 .0 .0 .0 .0 .0
B A 2 171 41.5 36.6 4.9 .0 .0 .0 100.0
Q oL&E /& Dl 18.6 34.9 39.5 7.0 .0 .0 .0 100.0
= B & 22.1 35.3 27.9 14.7 .0 .0 .0 100.0
&/ EE/ES 29.3 33.8 27.8 9.1 .0 .0 .0 100.0
SF/HL/E= 30.3 39.8 22.6 7.2 .0 .0 .0 100.0
= /3= 18.2 40.9 35.2 5.7 .0 .0 .0 100.0
Sh/L/E 171 37.0 37.7 8.2 .0 .0 .0 100.0
HZ=/01=/012l 15.0 40.0 30.0 15.0 .0 .0 .0 100.0
2 8 ¢ .0 .0 .0 .0 .0 .0 .0 .0
0l & =) 23.0 39.0 29.8 8.1 .0 .0 .0 100.0
;é: E & 26.1 35.2 31.0 7.7 .0 .0 .0 100.0
= =) = 19.2 38.7 341 7.9 .0 .0 .0 100.0
16 o 3 # 16.0 36.6 37.8 9.5 .0 .0 .0 100.0
*Jm L 2 # 26.9 38.9 27.2 6.9 .0 .0 .0 100.0
Xe 2 g Z 22.9 45.7 25.7 5.7 .0 .0 .0 100.0
a8 241 31.9 35.3 8.6 .0 .0 .0 100.0
Xl st Lk ek & 13.8 38.7 37.9 9.5 .0 .0 .0 100.0
§ o = ¢ 28.8 39.6 25.2 6.3 .0 .0 .0 100.0
= J B &8 ¢ 28.1 36.8 26.3 8.8 .0 .0 .0 100.0
ol Ct 23.2 35.3 33.4 8.2 .0 .0 .0 100.0
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fssty | gasty | gssy | gasy | gas ¥ | |53y | g5y
N % N % N % N % N % N % N %
g &N 25.6 386 23.9 1.9 0 0 100.0
& o Xt 23.1 38.5 26.4 12.1 0 0 100.0
o Xt 28.2 38.8 21.2 11.8 0 0 100.0
o 20 o 30.6 36.1 22.2 1.1 0 0 100.0
30 o 6.8 40.9 34.1 18.2 0 0 100.0
40 ch 30.8 38.5 23.1 77 0 0 100.0
50 Of o &
33.3 38.6 17.5 10.5 0 0 100.0
sol/oel/ee 60.0 40.0 0 0 0 0 100.0
PR~ 19.4 .7 222 16.7 0 0 100.0
g2z 25.9 25.9 29.6 18.5 0 0 100.0
30l E2e 20.9 41.9 233 14.0 0 0 100.0
rHEE 27.9 39.5 25.6 7.0 0 0 100.0
il o 44.4 33.3 22.2 0 0 0 100.0
e = 0 50.0 37.5 12,5 0 0 100.0
2 2 g

0 0 0 0 0 0 0
Il 5 30 3 40.6 31.3 12.5 15.6 0 0 100.0
= inl z 24.0 38.7 26.7 10.7 0 0 100.0
= ooz o a 203 42.0 26.1 1.6 0 0 100.0
ES 1 s 25.0 37.5 25.0 12,5 0 0 100.0
= i 27.3 39.4 16.7 16.7 0 0 100.0
& d 0 0 25.0 50.0 20.8 4.2 0 0 100.0
B E R 60.0 40.0 0 0 0 0 100.0
2 il 21.1 33.3 35.1 10.5 0 0 100.0
It 200 2re O/t 34.9 34.9 14.3 15.9 0 0 100.0
& 200 ~ 300 0|8t 18.9 49.1 24.5 75 0 0 100.0
= 300 2re Ol& 21.7 33.3 33.3 1.7 0 0 100.0
e g ¢ 0 0 0 0 0 0 0
2 A 2 12.1 33.3 48.5 6.1 0 0 100.0
o d /Il 17.3 48.1 28.8 58 0 0 100.0
2 2 33.3 66.7 0 0 0 0 100.0
uE/Ed/ES 50.0 30.0 5.0 15.0 0 0 100.0
2E/H/HS 0 100.0 0 0 0 0 100.0
o /2= 34.8 26.1 21.7 17.4 0 0 100.0
S22 30.2 37.2 11.6 20.9 0 0 100.0
£ 2 g 0 0 0 0 0 0 0
= M 2 17.6 41.2 29.4 11.8 0 0 100.0
xl oL /& 12.9 45.2 35.5 6.5 0 0 100.0
= 2 2 16.7 66.7 16.7 0 0 0 100.0
UaE/Ey/ES 345 345 20.7 10.3 0 0 100.0
2E/dg/Es 10.0 50.0 30.0 10.0 0 0 100.0
We/a= 30.2 30.2 25.6 14.0 0 0 100.0
S/ g /2 35.1 40.5 5.4 18.9 0 0 100.0
HIZ=/01 /31 2l 0 0 100.0 0 0 0 100.0
£ 2 € 0 0 0 0 0 0 0
ol & i 23.1 51.3 12.8 12.8 0 0 100.0
< = & 26.2 32.3 277 13.8 0 0 100.0
= L * 26.4 37.5 26.4 97 0 0 100.0
16 o & = 274 34.0 26.4 12.3 0 0 100.0
o L 2 8 19.5 53.7 19.5 7.3 0 0 100.0
A 2 o 2 25.0 50.0 25.0 0 0 0 100.0
2/ eed 28.0 32.0 20.0 20.0 0 0 100.0
X L2 g 25.5 38.3 26.6 9.6 0 0 100.0
2 g F g 22.2 48.1 25.9 3.7 0 0 100.0
< e E Y 60.0 40.0 0 0 0 0 100.0
8t ct 24.0 34.0 20.0 22.0 0 0 100.0
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20
o =1
= O0b Eaxg 10& Of
act | 1™ | o® | 3® | 48 | o0 | 68 | 78 | 8™ | 9¥ |FzC|esd| 7
REct dhatt dhatt 2Ras 3Rast dRast dhast dRas dhas Rt shatt dhast shast o
N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N%
ER Y 77| 48] 106 140| 103| 386.7] 72| 55| 25 a 3 0 100.0
2R g 1 90| 51| 115| 144| 107| 33.1 76| 53| 27 3 2 .0 100.0
of 1 64| 46| 97| 136| 10.0| 40.1 6.7| 57| 23 5 5 .0 100.0
Bo 20 12.0] 62| 151| 16.4| 11.0| 26.7| 65| 38| 1.7 .0 7 .0 100.0
g - 30 99| 73| 99| 182| 92| 333| 63| 43| 1.3 3 0 .0 100.0
= 40 59| 35| 9.0| 122| 106| 455| 63| 39| =27 4 0 0| 100.0
50 Of Ol
34| 26| 86| 97| 106| 41.4| 91 9.1 4.0 9 6 .0 100.0
BA sg/0d] 4.0 0| 60| 10.0| 12.0| 40.0| 120| 6.0| 80| 20 0 .0 100.0
B - PO 74| 48| 61| 16.2| 105| 39.3| 66| 57| 35 0 0 .0 100.0
= 2 2 2| 127 34| 98| 16.1 73| 395| 49| 34 5 1.0 15 .0 100.0
04 90| 69| 152 145| 121| 272| 66| 62| 1.7 3 3 0| 100.0
b3 x| 32| 38| 86| 11.4| 105| 438| 95| 67| 22 3 0 .0 100.0
el 15.9| 7.9| 206| 19.0| 12.7| 159| 63| 1.6 .0 .0 0 .0 100.0
2 2.1 6.3| 125| 6.3| 6.3| 458| 42| 63| 104 0 0 .0 100.0
o =2
0 0 0 0 0 0 0 0 0 0 0 0 0
MR = 50| 49| 30| 103 94| 79| 399| 89| 94| 44| 15 5 0| 100.0
5+ 2 { 73| 50| 90| 13.0| 93| 425| 69| 48| 1.9 0 3 .0 100.0
== ozol| 96| 55| 129 17.7| 12.9| 270| 67| 45| 24 5 2 .0 100.0
Bz I = 52| 36| 12.7| 151 79| 409| 95| 4.0 8 0 4 .0 100.0
u - = 1 93| 70| 93| 134| 73| 38| 52| 50| 38 6 3 0| 100.0
= 3 o= 78| 26| 104| 148| 19.1| 357| 35| 35| 26 0 0 .0 100.0
ol B B[ 176 0| 59| 59| 59| 41.2 0| 176 .0 0| 59 .0 100.0
2 1 74| 47| 106]| 140| 11.8| 330| 85| 68| 25 8 2 .0 100.0
B 2009k | 102| 48| 97| 95| 9.0| 403| 6.1 59| 3.4 9 2 .0 100.0
T2 200~304 72| 49| 11.2] 150]| 11.0| 352| 90| 43| 16 2 4 0| 100.0
@ o 800 ere 48| 48| 109| 189 11.2| 837| 6.1 67| 26 0 3 .0 100.0
2 g 0 0 .0 0 .0 .0 .0 0 .0 .0 0 .0 .0
B A { 15| 34| 109]| 135| 150]| 381.1| 11.6] 10.1 2.6 4 0 .0 100.0
& - old /3 38| 24| 99| 188| 106| 459| 38| 27| 1.7 0 3 .0 100.0
= 2 { 95| 7.1 24| 95| 16.7| 357| 11.9| 24| 24| 24 0 .0 100.0
tE/s<| 16.7| 48| 103 12.7| 48| 325 7.1 48| 3.2 8| 24 .0 100.0
gx/de| 15.4| 66| 13.2| 10.3| 96| 3875| 59 7 .0 7 0 .0 100.0
/8 74| 52| 74| 67| 104] 37.8] 11.1 74| 67 0 0 0| 100.0
Sa/2s 104| 84| 13.4] 168| 64| 322| 35| 64| 20 5 0 .0 100.0
2 = 0 0 .0 0 0 .0 .0 0 .0 .0 0 .0 .0
Bz A { 6.1 5.1 91| 16.2| 11.1| 28.3| 11.1| 10.1 1.0 1.0 1.0 .0 100.0
X od /F 44 19| 75| 188| 138| 40.0| 50| 63| 25 0 0 0| 100.0
- 2 {4 68| 54| 81| 189| 122| 31.1| 108| 27| 14| 27 0 .0 100.0
th®/s<| 83| 39| 127| 132| 83| 38| 57| 70| 22 4| 13 .0 100.0
gx/dgf 100| 52| 11.7] 10.4| 11.3] 429| 65 9| 1.3 .0 0 .0 100.0
=/ 89| 50| 84| 89| 94| 391 89| 59| 54 .0 0 .0 100.0
Sa/gaf 7 71| 12.0]| 186| 87| 30.1 66| 77| 1.6 5 0 0| 100.0
M=/ol=l 43| 87| 217| 87| 87| 348| 43 0| 87 0 0 .0 100.0
2 g .0 .0 .0 0 .0 .0 .0 0 .0 .0 0 .0 .0
mol & { 88| 66| 13.7| 16.9| 11.5| 29.4| 47| 5.1 2.7 2 2 .0 100.0
g¢ = 9 70| 29| 91| 129| 86| 453| 65| 53| 1.4 5 5 0| 100.0
5= = { 72| 5.1 88| 12.0| 10.9| 34.9| 107| 6.1 3.5 5 3 .0 100.0
®i6 0 3 49| 39| 90| 11.6| 97| 896| 90| 69| 39 9 5 .0 100.0
PSS 9.0| 46| 12.2| 143| 12.2| 36.1 58| 4.1 1.2 2 3 .0 100.0
%“E 2 o 12.8| 51| 154| 15.4| 12.8| 282 ol 77| 26 0 0 0/ 100.0
oA/ 2y 92| 85| 74| 19.9| 35| 326| 92| 64| 35 0 0 .0 100.0
A s u 2| 37| 37| 61| 130| 98| 406| 98| 72| 49 6 6 .0 100.0
uz ow = 94| 33| 11.1| 18.9| 122| 875| 64| 44| 14 3 0 0| 100.0
S° 2l e 3| s 9.7 19.4| 8.1 65| 30.6| 32| 8.1 3.2 1.6 1.6 0| 100.0
o q 93| 63| 125| 158| 97| 336| 63| 46| 1.4 2 2 0| 100.0
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it

a21
pS) gx‘
PSS Eaxg 10® of
ACH | 1™ | o® | 3® | 4® | o0t | 6 | 7 | 8® | 98 |F ZCH|esg| 8
PSsl 3R58l 8R58 8R5s 3R 58 3R5E #REE 8R55 #RGE 3RGS IREE RS 3R
N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N%
ERSIEE] 50| 22| 71 88| 93| 428]| 122| 7.3| 43 8 5 0 100.0
28 o 1 s8| 22| 63| 85| 90| 41.3| 134| 92| 37 3 3 0| 100.0
0 1 43| 21 79| 90| 95| 442| 110| 56| 47 1.1 7 0| 100.0
B 20 75 141 79| 89| 11.3| 42.1| 116| 65 141 1.0 3 .0 | 100.0
g - 30 73| 23| 89| 92| 73| 413| 106| 7.3| 5.0 3 7 .0 | 100.0
= 40 3.1 20| 59| 106| 11.0| 451| 125| 63| 3.1 4 0 0| 100.0
50 O Ol
23| 29| 57| 69| 80| 429| 137 89| 69 1.1 9 0| 100.0
®|A so/0el 40| 20 0| 60| 60| 48.0| 16.0| 6.0| 100| 2.0 .0 0| 100.0
e - g 35| 35| 39| 87| 83| 463 13.1 92| =22 9 4 .0 | 100.0
= g 2 2| 127 5| 83| 59| 83| 429| 93| 59| 49 5 1.0 .0 | 100.0
g0 g 55 10| 97| 11.0| 10.0| 393| 11.7] 83| =28 7 0 0| 100.0
" = 16| 22| 70| 98| 95| 41.3| 143| 67| 6.7 6 3 0| 100.0
& 48| 32| 63| 79| 159| 44.4| 111 4.8 1.6 0 .0 .0 | 100.0
2 E o| 83| 104| 42| 63| 479| 63| 83| 2.1 2.1 4.2 .0 | 100.0
o) =2
0 0 0 0 0 0 0 0 0 0 0 0 0
Bn = =0 30| 34| 54| 94| 59| 438| 123| 74| 64| 20 1.0 0| 100.0
5= 2 1 6.2 19| 60| 73| 93| 453| 119| 71 4.0 9 2 0| 100.0
== s o0 43 1.9 93| 105| 10.8| 38.8| 124| 77| 36 0 7 .0 | 100.0
BmE I = 4.4 4| 75| 95| 103]| 440| 99| 87| 4.0 8 4 .0 | 100.0
i - = {1 47| 35| 70| 87| 90| 472| 93| 58| 38 3 6 0| 100.0
= o= 52| 35| 70| 87| 96| 39.1| 139| 52| 7.0 0 9 0| 100.0
ol e B[ 118 o0l 59 .0 o 471 11.8] 118 0 0| 1.8 .0 | 100.0
2 {1 53 1.9 70| 87| 91| 395| 150| 80| 42 1.3 .0 .0 | 100.0
B Jb 200 ok 84| 20| 59| 84| 79| 46| 95| 54| 57 1.4 9 .0 | 100.0
T2 200~300 4.0 18| 76| 87| 105| 41.5]| 141 70| 43 2 2 0| 100.0
e 16| 29| 80| 93| 93| 420]| 13.1| 106| =22 6 3 0| 100.0
2 g .0 0 0 .0 .0 0 0 .0 0 0 .0 .0 0
B A 4 4 15 105| 90| 146| 32.2| 17.6| 11.6 1.9 7 .0 .0 | 100.0
o - ol & /Y 5.4 14| 5.1 96| 65| 42.1| 154| 82| 6.2 3 0 0| 100.0
= =l {4 7.1 ol 24| 74 24| 548| 143| 48| 48| 24 .0 0| 100.0
th&/se| 103| 24| 63| 40| 32| 524| 95| 48| 56 8 8 .0 | 100.0
/8l 118 22| 74| 11.0| 147| 404| 88| 29 7 0 .0 .0 | 100.0
/8 52| 30| 59| 59| 59| 459| 67| 104| 67| 22| 22 0| 100.0
Saygal 25| 40| 74| 109| 99| 485| 74| 35| 45 5 1.0 0| 100.0
I .0 0 0 .0 .0 0 0 .0 0 0 .0 .0 0
Bz A 4 40| 20| 71 74| 131| 354 13.1] 16.2| 2.0 0 .0 .0 | 100.0
X od 44 13| 56| 94| 75| 413| 150 8.1 6.3 1.3 .0 0| 100.0
g 2 q 54 141 95| 95| 41| 446| 149| 54| 41 1.4 .0 0| 100.0
ha/EE| 6.1 3.1 66| 83| 83| 39.5| 123| 83| 6.6 4 4 .0 | 100.0
Zx/EYl 74 171 78| 87| 126| 42.9| 12.1 5.2 1.3 4 .0 .0 | 100.0
= /38 54| 25| 59| 69| 59| 55| 69| 79| 5.0 1.5 1.5 .0 | 100.0
Sa/ge 16| 27| 7| 109| 11.5] 437| 12.0| 44| 44 5 1.1 0| 100.0
HZ=/0l= .0 0| 17.4| 13.0| 87| 34.8]| 26.1 .0 0 0 .0 0| 100.0
2 g .0 0 0 .0 .0 0 0 .0 0 0 .0 .0 0
mol & 4 44| 22| 10.0]| 100]| 12.7| 380| 83| 86| 47 7 2 .0 | 100.0
ﬁg = 4 58 10| 55| 82| 55| 525| 103| 58| 46 2 7 0| 100.0
== = { 48| 35| 56| 80| 96| 37.1| 184| 77| 35 1.3 5 0| 100.0
®16 0 3 32| 25| 63| 72| 88| 435| 125| 9.0| 5.6 9 5 .0 | 100.0
wd & =2 5.6 171 75| 87| 107| 42.3| 128| 741 3.1 3 2 0| 100.0
%“E A 9 5.1 o| 51| 179| 51| 513 26| 26| 77| =26 0 0| 100.0
JA/2{ 78| 35| 85| 11.3| 57| 39.7| 11.3| 43| 43 14| 21 0| 100.0
® K 8 Ut 23| 32| 66| 72| 84| 429| 127| 86| 6.3 9 9 .0 | 100.0
42w = 56| 25| 75| 94| 106| 40.8| 13.9| 72| 1.9 6 0 0| 100.0
5° N EF| 65 o| 65| 97| 32| 435| 48| 16.1 8.1 1.6 0 0| 100.0
el ] 65 14 72| 93| 97| 441| 11.4| 521 3.9 7 7 0| 100.0
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22

ONE @ Al ® O @ e

LIOHE 24 2 Lota 2 LR Lhog = 2

olCt 20|10 210(CH olCt 2sg S
S5 S58t o S5 58 o S5 58t o
N % N % N % N % N % N %
EERS, A 78 75.9 5.8 4 T 100.0
gu o Xt 8.1 72.2 19.0 5 2 100.0
ol Xt 7.4 79.5 12.8 3 0 100.0
B ol 20 o 9.6 76.7 13.7 0 .0 100.0
g 30 o 8.3 74.9 16.8 0 0 100.0
= 40 ] 6.7 76.5 15.3 1.6 0 100.0
50 CH O 4t
6.6 75.7 171 3 3 100.0
B = =0/012/U 4.0 82.0 12.0 .0 2.0 100.0
e - o9 o 6.6 72.9 20.5 0 0 100.0
= =22 9.3 79.0 1.7 0 0 100.0
50l E 22 9.0 75.2 15.2 7 .0 100.0
IR ER 7.0 75.9 16.5 6 0 100.0
&t A 1.1 71.4 17.5 0 0 100.0
2 = 4.2 81.3 12.5 2.1 .0 100.0
2 =2 g

0 0 .0 0 0 0
B = = o st 6.9 78.3 13.8 1.0 0 100.0
5 Inl = 6.6 80.3 12.8 2 2 100.0
== o= ol & 9.8 68.7 21.1 5 .0 100.0
SIS = 1 75 81.3 10.7 4 0 100.0
1 - = il 7.0 73.2 19.2 3 3 100.0
= 2 = 1 6.1 73.0 20.0 9 .0 100.0
ol B = 1 5.9 58.8 35.3 .0 .0 100.0
=] il 8.9 76.3 14.4 4 0 100.0
B O 200 o+ 0|g 5.7 78.5 14.9 7 2 100.0
T 200 ~ 300 0|2t 7.4 77.1 15.2 2 .0 100.0
g 300 Or Ol 4t 1.2 70.5 17.9 3 0 100.0
2 = ¢ 0 0 0 0 0 0
B M = 10.1 71.2 18.7 0 .0 100.0
& oL E /D 3.4 78.1 17.8 7 0 100.0
28 2 2 1.9 83.3 2.4 2.4 0 100.0
Ha/zd/52 7.1 80.2 1.9 0 8 100.0
Ux/HL/HE 18.4 77.2 4.4 .0 .0 100.0
h=/2s 5.2 79.3 15.6 0 0 100.0
SAYSA/AY 5.0 71.8 22.3 1.0 .0 100.0
2 g ¢ 0 .0 .0 .0 .0 .0
] M s 7.1 76.8 15.2 1.0 0 100.0
g A ol /&Il 4.4 75.6 19.4 6 0 100.0
= 2 2 9.5 81.1 8.1 1.4 .0 100.0
ha/zg/s= 6.1 77.2 16.2 0 4 100.0
E/HY/HE 14.3 80.5 5.2 0 0 100.0
W= /3= 6.4 69.8 23.3 5 .0 100.0
SAYS /A Y 6.0 72.7 20.8 5 .0 100.0
RIZ=/01=/31 2l 4.3 78.3 17.4 0 0 100.0
2 = ¢ .0 .0 .0 0 .0 0
B 0l = 2 12.0 75.7 12.0 2 .0 100.0
::-1 d = [ 7.0 78.2 14.6 2 0 100.0
== =l e 4.0 73.6 21.3 8 3 100.0
B’ 16 o 3 = 2.5 65.7 30.6 9 2 100.0
Ul [ 12.2 82.7 4.9 2 0 100.0
QI'E a g oz 5.1 82.1 12.8 0 0 100.0
I/ esg 5.7 77.3 17.0 0 .0 100.0
B Xl s U o2k & 3.5 64.6 30.8 1.2 .0 100.0
g § o = o 13.1 81.1 5.8 .0 0 100.0
5 - ol BB e 12.9 75.8 1.3 0 .0 100.0
gl ct 6.0 80.7 12.8 2 2 100.0
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O1S 2001 | WL 2 | #5220 | MO AS | 0120 & | E0is A

Ct olCt Ol Ct £ 30ICt | 2ol olCH s B
RE8t Y | R58 Y | K58 Y | R58 Y | R58 Y | K58 Y | |58t Y | |58
N % N % N % N % N % N % N % N %
RS =] 22.3 10.1 27.2 21.1 2.0 7.2 2 700.0
25 o Xt 23.7 1.2 23.0 24.5 1.2 6.1 2 100.0
of Xt 21.1 9.0 30.9 18.1 12.6 8.1 2 100.0
B o 20 o 17.1 10.7 29.0 23.8 10.7 8.3 4 100.0
g 30 o 24.2 12.7 21.8 23.0 10.7 7.5 0 100.0
= 40 23.6 7.1 26.9 18.9 16.5 6.6 5 100.0
50 CH Ol &
24.3 9.4 30.6 18.8 10.8 6.3 0 100.0
B = =91/012/2 e 37.2 9.3 25.6 14.0 1.6 2.3 0 100.0
g - U= < 25.3 9.3 28.0 16.5 14.8 6.0 0 100.0
= 22 2 g 21.5 8.8 29.3 21.0 7.7 1.0 6 100.0
3t 0l E 2 g 19.3 13.9 21.7 26.6 12.3 5.7 4 100.0
I FR 20.7 8.4 30.7 19.5 14.6 6.1 0 100.0
& o 19.2 5.8 26.9 30.8 5.8 1.5 0 100.0
e = 29.3 12.2 26.8 14.6 7.3 9.8 0 100.0
g g

0 0 .0 .0 .0 .0 0 0
] = = 0 o 26.0 7.5 33.5 15.6 1.6 5.8 0 100.0
2 j n} = 21.9 9.1 28.2 20.3 12.3 7.8 4 100.0
== o= o0l & 21.0 12.8 22.3 25.3 1.6 7.0 0 100.0
e = n 23.7 9.8 25.0 24.1 8.5 8.9 0 100.0
a - = il 18.2 9.8 29.5 21.1 13.5 7.6 4 100.0
= B o= 1 27.5 12.1 30.8 13.2 12.1 4.4 0 100.0
Il B & .0 9.1 36.4 27.3 18.2 9.1 0 100.0
@ il 23.8 9.9 25.8 21.1 12.7 6.5 2 100.0
B Ot 200 g+l Olgt 23.1 10.5 28.2 17.7 1.3 8.9 3 100.0
Tt 200 ~ 300 0] 21.2 1.4 27.6 20.2 13.8 5.6 3 100.0
. 300 2+l 0|4t 22.7 7.5 25.1 27.5 10.2 7.1 0 100.0
2 g g 0 0 0 .0 .0 .0 0 0
B A 5 20.3 1.1 26.3 27.6 8.8 6.0 0 100.0
= orH /&I 21.8 12.6 28.6 16.4 13.0 7.6 0 100.0
28 2 2l 30.0 10.0 27.5 22.5 10.0 0 0 100.0
H/Esd/5S 27.3 3.6 25.5 18.2 16.4 8.2 9 100.0
ZE/HY/EE 21.5 13.1 32.3 21.5 7.7 3.8 0 100.0
hr/8e 24.6 7.9 29.8 14.9 14.9 7.0 9 100.0
SR 19.4 8.4 21.3 25.2 13.5 12.3 0 100.0
2 g g 0 0 0 .0 .0 .0 0 0
e A s 18.1 10.8 27.7 24.1 9.6 9.6 0 100.0
el orE /ol 21.9 10.2 25.0 20.3 15.6 7.0 0 100.0
. 2 2 25.4 14.9 25.4 23.9 9.0 1.5 0 100.0
Had/sd/E2 26.8 6.8 24.7 22.6 1.6 6.8 5 100.0
YF/HY/HS 20.1 12.3 31.1 21.9 9.1 55 0 100.0
/3= 24.7 6.5 33.1 14.9 14.3 5.8 6 100.0
SAYS A H Y 19.4 10.4 22.2 22.9 13.9 1.1 0 100.0
HMz/01=2/6 8l 15.8 21.1 15.8 15.8 10.5 21.1 0 100.0
2 =2 o .0 .0 0 0 0 0 0 0
& 0l &l 2 24.0 8.9 25.4 23.7 10.3 7.3 3 100.0
24 = [ 23.9 9.0 29.0 17.5 12.1 8.2 3 100.0
e = 2 * 18.2 12.7 27.1 22.3 13.7 5.8 0 100.0
B 16 o 3 & 24.7 8.1 26.4 22.0 1.5 7.1 0 100.0
de 2 22.4 10.9 28.0 20.4 10.9 7.3 .0 100.0
gxwa = 14.7 17.6 23.5 29.4 5.9 5.9 2.9 100.0
A ey 17.9 8.5 26.5 19.7 19.7 6.8 9 100.0
B X T 19.5 8.1 28.4 22.9 14.0 7.2 0 100.0
uz g oF g 22.4 8.8 28.9 227 1.5 5.6 0 100.0
= Il BB g 21.8 14.5 16.4 32.7 7.3 7.3 0 100.0
o Ct 241 11.8 26.5 16.8 11.8 8.6 5 100.0
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N % N % N % N % N % N % N % N % N %
P 4.4 12.3 15.9 4.4 195 236 0 0 100.0
B - it 11.3 11.3 17.4 19.1 19.1 21.7 0 0 100.0
ol Xt 18.8 13.8 13.8 7.5 20.0 26.3 0 0 100.0
of 20 o 17.5 75 225 10.0 25.0 17.5 0 0 100.0
30 o 11.8 9.8 15.7 23.5 17.6 21.6 0 0 100.0
40 o 11.6 16.3 14.0 7.0 23.3 27.9 0 0 100.0
50 Of Ol &
16.4 14.8 13.1 14.8 14.8 26.2 0 0 100.0
so/ole/gel 333 33.3 16.7 0 16.7 0 0 0 100.0
FoY o 8.5 17.0 10.6 21.3 17.0 25.5 0 0 100.0
2229 8.3 4.2 33.3 12.5 16.7 25.0 0 0 100.0
30l £ 2 g 17.4 6.5 15.2 15.2 23.9 21.7 0 0 100.0
FHEE 14.8 14.8 13.0 1.1 20.2 24.1 0 0 100.0
5t o 18.2 9.1 18.2 18.2 9.1 27.3 0 0 100.0
2 = 28.6 14.3 14.3 0 14.3 28.6 0 0 100.0
o = ct
0 0 0 0 0 0 0 0 0
Im) == 0 o 26.7 10.0 10.0 3.3 30.0 20.0 0 0 100.0
= ) = 8.0 14.7 20.0 16.0 18.7 20.7 0 0 100.0
= o= ol & 15.6 1.1 14.4 16.7 16.7 25.6 0 0 100.0
= J = 1 14.3 10.7 17.9 17.9 21.4 17.9 0 0 100.0
£ Im] 13.4 17.9 9.0 11.9 19.4 28.4 0 0 100.0
B # x n 12.5 8.3 16.7 16.7 20.8 25.0 0 0 100.0
J BB D 33.3 0 0 0 33.3 33.3 0 0 100.0
E Im) 14.3 10.0 22.9 15.7 17.1 20.0 0 0 100.0
Jb 200 @r 0|9t 18.8 5.8 13.0 11.6 20.3 30.4 0 0 100.0
£ 200~30008 0.1 20.3 14.5 13.0 24.6 17.4 0 0 100.0
e 300 @+l 04 14.0 10.5 21.1 19.3 12.3 20.8 0 0 100.0
2 g2 o 0 0 0 0 0 0 0 0 0
2 M 2 12.0 8.0 24.0 14.0 24.0 18.0 0 0 100.0
R 13.0 22.2 1.1 18.5 9.3 25.9 0 0 100.0
2 2 0 0 0 0 100.0 0 0 0 100.0
na/sg/s=l 133 0 13.3 20.0 26.7 26.7 0 0 100.0
2E/EY/ES 0 33.3 16.7 0 50.0 0 0 0 100.0
/2= 19.0 0 23.8 95 14.3 33.3 0 0 100.0
sajsa/Aagl 191 12.8 10.6 12.8 19.1 25.5 0 0 100.0
2 2 9 0 0 0 0 0 0 0 0 0
= M = 18.8 12.5 25.0 18.8 12.5 12.5 0 0 100.0
X oA /Al 18.8 9.4 25.0 12.5 12.5 21.9 0 0 100.0
= 2 2 0 14.3 0 0 57.1 28.6 0 0 100.0
nx/ag/s=gl 135 13.5 10.8 18.9 24.3 18.9 0 0 100.0
2E/HY/ES 0 25.0 16.7 16.7 M7 0 0 0 100.0
/2= 14.6 8.3 18.8 8.3 12.5 375 0 0 100.0
sajsa/agl 128 12.8 10.3 17.9 205 25.6 0 0 100.0
M=E/oi=/e 500 25.0 0 25.0 0 0 0 0 100.0
2 g2 g 0 0 0 0 0 0 0 0 0
ol & g 8.0 10.0 18.0 22.0 20.0 22.0 0 0 100.0
4 = [ 17.7 9.7 17.7 12.9 16.1 25.8 0 0 100.0
= [ ES 15.7 15.7 13.3 10.8 21.7 22.9 0 0 100.0
16 o 3 = 17.6 11.0 15.4 14.0 16.2 25.7 0 0 100.0
4 = 2 6.7 6.7 20.0 20.0 26.7 20.0 0 0 100.0
g a9 0 60.0 0 0 20.0 20.0 0 0 100.0
A/ e 8.3 16.7 16.7 12.5 29.2 16.7 0 0 100.0
xl s U o g 18.0 14.4 16.2 12.6 16.2 225 0 0 100.0
g CTRE 4.8 9.5 38.1 19.0 14.3 14.3 0 0 100.0
2 JEE 14.3 0 0 0 57.1 28.6 0 0 100.0
o ot 10.7 10.7 8.9 17.9 23.2 28.6 0 0 100.0
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a24
=0|¢) ol | SISTES Bl AR SIS
o5 g orm ord | XX e ois| o4 =X soieor ord| s | 29 | s
RS Hiess #RS WL WIS WRSH HRSH RS HRS WSS RS
N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N%
51| 263| 160| 64| 115| 296| 48 3 0 0 100.0
73| 256| 127| 73| 138| 29.0| 4d 2 0 0| 100.0
T 29| 268| 191 56| 93| 301 5.6 5 0 0| 100.0
& ol 62| 298| 17.1 55| 123| 264 2.1 7 0 0| 100.0
e ol 40| 257| 72| 26| 125 337| 43 0 0 0| 100.0
= f 51| 282| 133| 43| 11.0| 32| 55 4 0 0| 100.0
50 Oh Ol

51| 223| 160| 120| 103| 269 7.1 3 0 0| 100.0
] s/012/9 40| 100| 60| 440| 80| 260| 20 0 0 0| 100.0
e *og o 57| 249| 144 31| 105| 358 48 9 0 0| 100.0
= g2 2d 63| 244 132 73| 141| 298| 44 5 0 0| 100.0
SHOIE2| 52| 381.0| 134| 45| 138 266| 52 3 0 0| 100.0
b FH 22| 254| 225| 60| 89| 298| 5.1 0 0 0| 100.0
st 4] 79| 333| 175 1.6 159 222 1.6 0 0 0| 100.0
e [ 125| 250 167 0| 83| 292| 104 0 0 0| 100.0

e g d
0 0 0 0 0 0 0 0 0 0 0
Mwn & =09 20| 197| 158| 192| 79| 256| 99 0 0 0| 100.0
=+ 2 Z| 59| 292 157| 36| 11.2| 302| 36 5 0 0| 100.0
mo WZo0 4 55| 254| 165 41| 136| 3806| 4.1 2 0 0| 100.0
BE O = ® 44| 230| 198| 36| 151| 208 40 4 0 0| 100.0
e 2| 55| 283 122| 70| 99| 292| 73 6 0 0| 100.0
= F ® 61| 82| 183| 52| 78| 285| 7.0 0 0 0| 100.0
B &Y 0| 294| 11.8] 294 0| 294 0 0 0 0| 100.0
2| 51| 249 163| 70| 121 31.3| 32 2 0 0| 100.0
ot 2009t® Of 57| 229| 131 104| 120| B81.0| 48 2 0 0| 100.0
& 20~300f 36| 262| 197| 36| 130| 29.4| 43 2 0 0| 100.0
@ oo ol 64l 31| 147| 48| 87| 279| 58 6 0 0| 100.0
g g 0 0 0 0 0 0 0 0 0 0 0
2 2 90| 221| 292 1.5 75| 2r7| 30 0 0 0| 100.0
& /2] 41| 281| 158| 24| 96| 839| 55 7 0 0| 100.0
= = 0| 83| 95| 95| 167| 238 7.1 0 0 0| 100.0
/B4 32| 85| 95| 103| 95| 238 7.1 0 0 0| 100.0
BFE/EG/Y 74| 125 147| 103| 243| 272| 37 0 0 0| 100.0
t=/a39 7| 252| 104 156| 163| 274 44 0 0 0| 100.0
So/2a/d 50| 312 89| 69| 79| 337| 54 1.0 0 0| 100.0
g g 0 0 0 0 0 0 0 0 0 0 0
& 2| 81| =242| 283| 40| 51| 253| 5.1 0 0 0| 100.0
& # /3] 44| 250 175 1.9 11.3| 369| 25 6 0 0| 100.0
& | 14| 3878 135| 68| 81| 216| 95 1.4 0 0| 100.0
H/&2/84 35| 80.3| 180| 66| 105| 268| 4.4 0 0 0| 100.0
F/EL/H 74| 182 77| 61| 173| 299| 35 0 0 0| 100.0
/3y 35| 27.7| 114 104| 124| 282| 59 5 0 0| 100.0
s/28/A 60| 279 104| 77| 93| 828| 55 5 0 0| 100.0
M=E/o1=/8| 87| 21.7| 87| 43| 130| 348| 87 0 0 0| 100.0
£ g g o0 0 0 0 0 0 0 0 0 0 0
mo 2| 66| 235| 181 49| 135| 287 42 5 0 0| 100.0
g8 = E| 53| 283 127| 58| 106| 31.7| 53 5 0 0| 100.0
5= = #| 32| 269| 173| 88| 104| 283| 5.1 0 0 0| 100.0
Ei6 o & & 67| 271| 155| 83| 79| 282 6.0 2 0 0| 100.0
Wa = 2 & 44| 259| 170| 53| 139| 203| 39 3 0 0| 100.0
BUE @ o oA 77| ese| 77| 77| 128| 885 0 0 0 0| 100.0
/28| 24| 255| 156| 50| 12.1| 326| 6.4 7 0 0| 100.0
B e ued 69| 256| 17.9| 78| 89| 274 52 3 0 0| 100.0
N2 e x g 53| 225| 208 6.1 147| 258 4.4 3 0 0] 100.0
5° ez 145 242 48| 48| 161| 323 1.6 1.6 0 0| 100.0
8t Of 21| 802] 121 58| 102| 341 5.3 2 0 0] 100.0

_29_




£25. OOEHAE 28 FR= HNEEHN SN S 0= E= O SAlolloF sttt A2}

O

a25
ENTS
ol 2 A =X o & CHE ofl &
=00 bl SN EXELE] N3g =
of e LEO0R 2tE =% 0IM 2tE
5oz = 2 Xl oH O Has = = s
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Ra8t 3 K58 3 Ra8t 3 K58 3 Ra8t 3 K58 3
N % N % N % N % N % N %
IS =2l 8.7 43.0 448 35 0 700.0
g2 o Xt 8.7 41.4 46.0 3.9 0 100.0
of Xt 8.7 44.5 43.7 3.1 0 100.0
B ol 20 cH 7.5 46.6 44.5 1.4 0 100.0
g 30 cH 8.3 40.6 47.2 4.0 0 100.0
= 40 cH 9.4 475 39.6 3.5 .0 100.0
50 Cf ol &
9.4 38.9 46.9 4.9 0 100.0
B = 59/012/2 Y 14.0 24.0 56.0 6.0 0 100.0
g - g o 9.2 42.4 44.5 3.9 0 100.0
= =2 =2 2 ¢g 9.8 37.6 47.8 4.9 0 100.0
30l E 2 2t 7.9 47.2 43.4 1.4 .0 100.0
=R 8.3 45.7 41.6 4.4 0 100.0
S ] 3.2 44.4 50.8 1.6 .0 100.0
2 = 10.4 43.8 43.8 2.1 0 100.0
o = Cct
0 0 0 0 0 0
2 = & 0l st 8.4 38.9 46.8 5.9 0 100.0
g inl = 10.0 44.0 43.0 2.9 .0 100.0
== o= o & 6.9 43.5 46.4 3.1 .0 100.0
B = i s 8.3 46.8 41.3 3.6 .0 100.0
u - = il 8.5 39.9 45.8 5.8 0 100.0
= 2 oz o1 9.6 435 46.1 9 0 100.0
Il B 5 1.8 29.4 52.9 5.9 0 100.0
2 n 8.7 43.6 455 2.3 0 100.0
8 O 200 g+ 018 9.3 41.9 455 3.4 0 100.0
i g 200 ~ 300 012t 9.4 43.5 43.3 3.8 .0 100.0
8 300 g+ 014 6.7 43.9 46.2 3.2 0 100.0
2 =2 ¢ .0 .0 .0 .0 .0 .0
B A A s 1.2 47.6 39.7 1.5 .0 100.0
= orE /Al 9.6 39.7 46.9 3.8 .0 100.0
= Bl 2 11.9 31.0 54.8 2.4 0 100.0
ha/asd/a2 1.6 34.9 57.1 6.3 0 100.0
ZE/EY/ES 11.0 48.5 39.0 1.5 0 100.0
3 /a3s 9.6 45.2 43.0 2.2 0 100.0
SaySayA 5.4 441 44 1 6.4 0 100.0
2 =2 0 .0 0 .0 0 .0
B = A 2 7.1 43.4 44.4 5.1 .0 100.0
S ol /&l 1.3 425 43.8 2.5 0 100.0
8 Bl 2 14.9 29.7 54.1 1.4 0 100.0
ha/ad/a= 4.8 38.6 51.8 4.8 .0 100.0
ZE/HL/HS 1.3 48.9 37.2 2.6 0 100.0
h=/3= 9.9 43.6 44.6 2.0 0 100.0
Sy 3.8 47.0 43.2 6.0 0 100.0
HZE/01= /68l 17.4 34.8 47.8 .0 0 100.0
2 2 ¢ 0 .0 0 .0 0 .0
8 0l X ] 10.0 40.4 45.8 3.7 0 100.0
ﬁ < = [ 8.2 441 45.1 2.6 .0 100.0
2= 2 + 7.7 44.5 43.5 4.3 0 100.0
B 16 o 3 & 9.0 46.3 41.0 3.7 .0 100.0
e e 2 8.5 41.0 47.1 3.4 .0 100.0
é“e A o oz 10.3 41.0 436 5.1 0 100.0
I A eed 7.8 41.8 47.5 2.8 0 100.0
B Xl s Lt 2t & 8.4 46.7 40.1 4.9 0 100.0
Qfﬁ IS 9.7 411 45.6 3.6 .0 100.0
B Il B A 9.7 45.2 41.9 3.2 0 100.0
o cH 7.9 41.3 48.5 2.3 .0 100.0
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axel 2
zeigg | D% EG MOIZE | ZH 7% | % 500
=1n] x| e | SA5 SHE == 2set B
258 8 | 258 # |58 |58 | K58 |25 H (258 8 | 258 #
N % N % N % N % N % N % N % N %
H 2 1.8 7.7 3.7 241 21.6 27.3 0 700.0
e o Rt 12.7 1.4 16.5 20.2 20.5 28.7 0 100.0
of Rt 10.8 2.0 11.0 27.8 22.6 25.9 0 100.0
o 20 cH 1.0 3.8 15.4 24.3 18.8 26.7 0 100.0
30 o 15.8 1.3 16.8 23.1 20.1 22.8 0 100.0
40 tH 9.4 1.6 12.9 24.7 22.7 28.6 0 100.0
50 O O 4
10.6 3 10.0 24.3 24.3 30.6 0 100.0
=91/012/U 4.0 0 14.0 32.0 32.0 18.0 0 100.0
g o 9.6 1.7 12.2 24.0 20.1 32.3 0 100.0
s =2 22 15.1 2.4 14.1 17.6 22.0 28.8 0 100.0
50l E 2 et 12.8 2.1 17.9 22.4 20.7 241 0 100.0
HE =R 12.7 1.3 9.8 28.3 23.2 24.8 0 100.0
& = 7.9 1.6 17.5 27.0 1.1 34.9 0 100.0
< = 8.3 0 12.5 22.9 25.0 31.3 0 100.0
2 2 o
0 0 0 0 0 0 0 0
m} = = 0 & 1.8 0 7.4 26.1 22.7 32.0 0 100.0
= ni E= 12.1 1.9 1.9 24.2 25.0 24.9 0 100.0
= oz o0 & 1.2 2.2 19.1 23.0 16.3 28.2 0 100.0
= £ n 14.3 1.6 14.7 23.4 23.0 23.0 0 100.0
2 il 1.4 1.5 12.2 25.9 23.9 25.1 0 100.0
& 3 = 9.6 9 16.5 27.0 21.7 24.3 0 100.0
Il B 5 R 1.8 5.9 1.8 5.9 23.5 41.2 0 100.0
2 I} 1.2 1.9 13.5 23.0 19.0 31.3 0 100.0
o 200 2He OlQt 8.6 9 12.2 25.6 22.9 29.9 0 100.0
& 200 ~ 300 0|2+ 16.8 1.6 13.9 21.1 18.8 27.8 0 100.0
= 300 BHe Ol 4t 9.0 2.9 15.4 26.3 23.7 22.8 0 100.0
2 =2 ¢ 0 0 0 0 0 0 0 0
2 M = 19.5 2.2 18.7 21.7 14.2 23.6 0 100.0
orE /¥l 13.0 1.0 12.7 26.4 20.9 26.0 0 100.0
2 2 2.4 0 21.4 19.0 19.0 38.1 0 100.0
W&/Esd/E= 7.9 1.6 1.9 25.4 27.8 25.4 0 100.0
2= /EHY/E= 1.0 0 16.9 19.9 26.5 25.7 0 100.0
/8= 8.9 5.2 8.9 29.6 20.7 26.7 0 100.0
SA/S/EY 6.4 1.0 8.9 23.3 26.2 34.2 0 100.0
Q2 =2 ¢ 0 0 0 0 0 0 0 0
E M 2 15.2 2.0 10.1 25.3 21.2 26.3 0 100.0
A ol /&l 1.9 3.1 15.0 23.1 19.4 27.5 0 100.0
= 2 2 9.5 0 17.6 23.0 23.0 27.0 0 100.0
W&/B/E= 12.3 1.3 14.0 23.2 20.6 28.5 0 100.0
2T /EHY/H= 14.3 4 19.0 20.8 20.8 24.7 0 100.0
h=/3s= 9.4 3.5 9.4 30.2 24.3 23.3 0 100.0
SA/S/EY 7.7 1.1 1.5 22.4 23.0 34.4 0 100.0
H=/01=/612 26.1 0 4.3 30.4 17.4 21.7 0 100.0
2 =2 ¢ 0 0 0 0 0 0 0 0
X = 13.7 2.2 16.7 21.8 18.6 27.0 0 100.0
= [ 1.8 1.2 1.3 20.6 24.5 30.7 0 100.0
2 % 9.6 1.6 13.1 30.4 21.6 23.7 0 100.0
o & & 1.3 1.9 10.2 25.7 22.7 28.2 0 100.0
2 8 12.6 1.4 16.5 21.1 20.6 27.9 0 100.0
2y 2 15.4 2.6 12.8 28.2 15.4 25.6 0 100.0
Il A/ 2 8.5 2.1 12.8 30.5 241 22.0 0 100.0
& Lt et o 12.1 2.3 9.5 29.1 21.3 25.6 0 100.0
o o= g 14.4 1.9 17.5 23.6 18.3 24.2 0 100.0
ol B X o 8.1 0 22.6 22.6 17.7 29.0 0 100.0
gl Ct 9.7 1.2 12.5 20.6 25.1 30.9 0 100.0
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I8l M Igaggw Aol 27
B 2H o 2ol ® RORfO (IR Mem SIS 2SE27 A
sz | 2o | =g BN zel| M | osfa | s otd =& ord| 29¢ | E
55t aloss alosst alosst slosst ot dlpas dnast dlRast dinast Aless o
N% | N% | N% | N% | N% | N% | N% | N% | N% | N% | N%
S| 257 11.6 741 12.4 44| 326 538 T 1 0| 100.0
Boog | 239| 102 42| 102 59| 38.0 7.1 2 2 0| 100.0
of X er3| 12.9| 105| 146 29| 273 4.4 0 0 0| 100.0
o 20 | 247| 106| 103 8.6 55| 34.6 5.8 0 0 0| 100.0
30 ol 3s07| 122 9.2 3.3 36| 33.0 7.9 0 0 0| 100.0
40 ol 357 8.6 5.5 8.2 39| 322 5.5 0 4 0| 100.0
50 O} 0
149 | 140 49| 266 46| 309 4.0 3 0 0| 100.0
=o/0i2/9l 80| 120 0| 400 40| 26.0 8.0 0 2.0 0| 100.0
o2 o o258 144 6.1 9.6 44| 31.0 8.7 0 0 0| 100.0
2224 o278 7.3 5.4 9.8 6.8| 36.6 6.3 0 0 0| 100.0
stolez| 266 79| 103 7.6 45| 383 4.8 0 0 0| 100.0
™ =4 286 159 73| 15.2 32| 263 3.5 0 0 0| 100.0
£ Ml 254 95| 127 4.8 16| 381 7.9 0 0 0| 100.0
2 =l 10.4| 125 6.3| 29.2 6.3 29.2 4.2 2.1 0 0| 100.0
o = [
0 0 0 0 0 0 0 0 0 0 0
D Es03 13| 148 3.0| 335 3.4| 296 3.9 0 5 0| 100.0
o =| o282 123 83| 10.0 48| 299 6.4 2 0 0| 100.0
S m=zso 4 2902 9.1 8.4 5.5 43| 378 5.7 0 0 0| 100.0
= J = # 24| 1109 8.7| 13.9 52| 246 6.3 0 0 0| 100.0
= | 222 108 73] 152 47| 33.8 5.8 3 0 0| 100.0
B m = o 304| 165 43 7.8 1.7] 339 5.2 0 0 0| 100.0
I BB 1 204 0 0| 294 0| 353 5.9 0 0 0| 100.0
2 | 249 112 78| 10.1 47| 355 5.5 0 2 0| 100.0
Jb 2009k 0| 222 9.3 6.3 19.2 45| 33.0 5.2 2 0 0| 100.0
£ 200~300{ 287 143 6.7 8.3 45| 314 5.8 0 2 0| 100.0
= 30022 ol 263| 109 9.9 8.7 42| 337 6.4 0 0 0| 100.0
2 2 g 0 0 0 0 0 0 0 0 0 0 0
AN 2| 322 135 7.5 8.6 79| 277 2.6 0 0 0| 100.0
ood /2] 250]| 175 5.5 6.8 3.1] 339 8.2 0 0 0| 100.0
B o 2l 57| 119 7.1 11.9 48| 21.4 7.1 0 0 0| 100.0
H&a/E2/d 214 7.9 71| 214 40| 317 5.6 0 8 0| 100.0
=/EY/Y 184 6.6 44| 176 44| 39.0 9.6 0 0 0| 100.0
/29 274| 114 6.7 14.1 37| 289 8.1 0 0 0| 100.0
S2a2e/Y 203 6.4| 129| 153 25| 38.1 2.0 5 0 0| 100.0
2 =2 ¢ 0 0 0 0 0 0 0 0 0 0 0
= A 2| 434 101 6.1 5.1 40| 263 4.0 1.0 0 0| 100.0
Noram /2] 200 144 7.5 8.8 56| 38.1 5.6 0 0 0| 100.0
= 2l o84 149 2.7 122 41| 297 8.1 0 0 0| 100.0
Ha/E4/4 276 7.0 6.6| 18.0 57| 289 5.7 0 4 0| 100.0
zx=/mg/y 212 143 6.5| 13.9 48| 320 7.4 0 0 0| 100.0
W= /29 267| 134 69| 124 35| 307 6.4 0 0 0| 100.0
Sa/28/Y 219 98| 120] 120 27| 383 3.3 0 0 0| 100.0
mE/01=/8 261 43| 13.0 4.3 43| 435 43 0 0 0| 100.0
2 2 g 0 0 0 0 0 0 0 0 0 0 0
] 2| 270 9.8 9.8 9.1 44| 343 5.6 0 0 0| 100.0
= =| 26.1 11.0 55| 11.3 41| 355 6.0 2 2 0| 100.0
o 2| 237 | 144 69| 17.3 48| 275 5.6 0 0 0| 100.0
o 3 & o252 134 58| 13.9 3.7| 329 5.1 0 0 0| 100.0
2 & 259| 107 83| 11.9 49| 320 6.0 2 2 0| 100.0
29 2 231| 205 5.1 7.7 51| 308 7.7 0 0 0| 100.0
/22| 270 7.1 92| 11.3 43| 348 6.4 0 0 0| 100.0
g et g 25| 135 6.3| 135 46| 303 5.2 0 0 0| 100.0
o = o 250 108 72| 158 56| 286 6.4 3 3 0| 100.0
ol BH® d 242 6.5 8.1 6.5 6.5| 40.3 8.1 0 0 0| 100.0
ol CH o58]| 11.4 8.4 9.5 3.0| 367 5.3 0 0 0| 100.0
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N % N % N % N %
RS EEl 58.8 41.3 0 100.0
2’ o Xt 51.4 48.6 0 100.0
of Xt 65.8 34.2 0 100.0
B o 20 ] 59.6 40.4 0 100.0
E 30 o 53.8 46.2 0 100.0
E 40 o 53.3 46.7 0 100.0
50 O O &
66.3 33.7 0 100.0
RS =9/019/2 Y 70.0 30.0 0 100.0
E oy o 48.9 51.1 .0 100.0
2B =2 2 49.8 50.2 0 100.0
S0l E2et 58.6 41.4 0 100.0
dEFR 70.8 29.2 0 100.0
&t A 60.3 39.7 0 100.0
2 x| 52.1 47.9 0 100.0
2 2 ¢
0 0 0 0
B = = 0 st 67.5 32.5 0 100.0
g = in} z 55.8 44.2 0 100.0
Z4 Wz ol & 58.6 41.4 0 100.0
B = B/ 54.8 45.2 0 100.0
m £ il 62.1 37.9 0 100.0
2B # = D 60.9 39.1 0 100.0
ol Bt E n 52.9 47 1 0 100.0
2 il 58.1 41.9 0 100.0
B o 200 orel 0lg 55.0 45.0 0 100.0
T 200 ~ 300 DI 62.1 37.9 0 100.0
. 300 orel 04t 59.3 40.7 0 100.0
2 = g .0 .0 0 0
B2 M s 67.8 32.2 0 100.0
= oA /Y 57.9 421 0 100.0
= 2 2 54.8 45.2 0 100.0
ha/zg/52 29.4 70.6 0 100.0
LE/HY/EE 63.2 36.8 0 100.0
H=/2= 56.3 43.7 0 100.0
SA/SA/AY 65.8 34.2 0 100.0
2 2 g .0 .0 0 0
B = M = 64.6 35.4 0 100.0
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Qg = 20.0 26.4 44.4 9.2 0 0 100.0
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= B 8.3 6.3 33.3 10.4 22.9 18.8 0 100.0
o = Cct
0 0 0 0 0 0 0 0
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i in] = 6.4 8.8 33.2 13.3 18.1 20.2 0 100.0
== = ol & 6.9 5.0 37.6 13.2 16.0 21.3 0 100.0
B = o= 6.3 8.3 35.3 15.1 15.5 19.4 0 100.0
u - = il 6.4 6.1 34.1 10.5 18.4 245 0 100.0
= @ = 1 9.6 1.3 27.0 7.8 19.1 25.2 0 100.0
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= 300 g+l Ol4 6.1 8.3 30.4 1.9 16.3 26.9 0 100.0
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ha/sd/5=2 8.3 7.5 34.6 18.9 15.4 15.4 0 100.0
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h=/3= 7.9 5.4 29.7 14.4 20.3 22.3 0 100.0
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] = = 0 o 10.8 67.0 22.2 0 100.0
g Il z 9.5 66.7 23.8 0 100.0
== Wz o & 10.0 65.1 24.9 0 100.0
IS s n 8.3 74.2 17.5 0 100.0
a - = il 9.9 67.6 22.4 0 100.0
= 2 = 8.7 65.2 26.1 0 100.0
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@ il 10.8 61.7 27.5 0 100.0
B O 200 Bt 0|8t 8.8 70.8 20.4 0 100.0
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g X orH /& 1.3 56.9 31.9 0 100.0
B el 2 13.5 66.2 20.3 0 100.0
Had/sd/E2 9.6 63.6 26.8 0 100.0
YF/HY/HS 10.4 69.7 19.9 0 100.0
h=/2= 8.4 67.8 23.8 0 100.0
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+ 2 = 35.6 24.9 34.2 5.4 0 100.0
e o = o 4 416 24.4 31.1 2.9 0 100.0
= I = @ 32.1 29.0 34.5 4.4 0 100.0
= ) 39.1 24.5 30.6 5.8 0 100.0
& 3 = 38.3 21.7 37.4 2.6 0 100.0
J B = 17.6 23.5 47.1 11.8 0 100.0
o Im) 38.5 24.3 31.7 55 0 100.0
b1 200 B+ O/t 36.9 20.1 35.5 7.5 0 100.0
& 200 ~ 300 0] 8 36.1 26.2 33.9 38 0 100.0
= 300 2Rl Ol4 38.5 30.4 27.2 38 0 100.0
2 =2 g 0 0 0 0 0 0
2 A s 30.0 36.7 30.3 3.0 0 100.0
] 36.0 25.7 33.2 5.1 0 100.0
2 2l 45.2 11.9 38.1 48 0 100.0
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H&/sd/z= 32.9 23.2 35.1 8.8 0 100.0
ZE/HY/EE 24.7 26.4 44.6 43 0 100.0
W3 /E= 49.5 20.8 23.3 6.4 0 100.0
B2 A 421 23.5 31.1 3.3 0 100.0
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16 o & = 421 25.5 27.1 53 0 100.0
a o2 o 31.6 25.0 38.1 5.3 0 100.0
e TR 48.7 15.4 30.8 5.1 0 100.0
VY 40.4 27.0 28.4 43 0 100.0
X U g 39.8 27.4 27.7 5.2 0 100.0
2 g F g 28.9 26.1 40.0 5.0 0 100.0
g JE 45.2 22.6 25.8 6.5 0 100.0
gt o 40.4 007 31.8 5.1 0 100.0
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g 30 o 1.2 52.8 20.5 15.5 0 100.0
< 40 o 12.9 53.7 18.4 14.9 0 100.0
50 Cf O &
14.0 48.9 24.3 12.9 0 100.0
] =2/01/Ue 16.0 54.0 18.0 12.0 0 100.0
g g o 10.0 51.1 23.1 15.7 .0 100.0
= 2 2 22 12.2 46.8 27.3 13.7 0 100.0
5ol E 2 gt 10.0 53.1 22.1 14.8 0 100.0
EFER 1.4 53.3 21.6 138.7 .0 100.0
& & 12.7 41.3 27.0 19.0 0 100.0
= = 27.1 43.8 20.8 8.3 0 100.0
o = ct
0 0 0 0 0 0
] = = 0 o 16.3 49.8 21.7 12.3 0 100.0
= 2 ES 11.4 49.9 24.4 14.3 0 100.0
== o = o & 10.3 52.4 22.0 15.3 0 100.0
IS £ n 10.3 55.2 21.0 13.5 0 100.0
a - = il 13.4 49.6 22.7 14.3 .0 100.0
= 2 ox 1 14.8 46.1 23.5 15.7 0 100.0
B 5 R 5.9 58.8 35.3 0 .0 100.0
< il 1.0 50.1 23.9 15.0 .0 100.0
B 200 e+l Ojer 10.9 49.1 24.7 15.4 0 100.0
Tt 200 ~ 300 0 105 52.9 22.6 13.9 .0 100.0
B 300 eHel 0l &t 15.1 50.0 21.5 13.5 .0 100.0
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/3= 9.6 50.4 24.4 15.6 0 100.0
S/ 2/EE 8.9 54.5 21.8 14.9 .0 100.0
2 =2 ¢ 0 0 0 0 0 0
B = A 2 13.1 54.5 17.2 15.2 0 100.0
a4 X o E /I 13.8 45.6 25.0 15.6 0 100.0
. L 2l 16.2 62.2 10.8 10.8 0 100.0
Ha/EY/ES 9.2 54.8 20.6 15.4 0 100.0
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2 =2 g 0 0 0 0 0 0
B 0l x 2 9.1 46.8 26.5 17.6 0 100.0
§ § = [ 10.3 53.5 19.7 16.5 .0 100.0
> = 2 % 16.5 52.0 23.2 8.3 0 100.0
B 16 o 3 & 13.4 56.3 19.9 10.4 .0 100.0
the o2 1.7 44.6 26.5 17.2 .0 100.0
%!I' a9 oz 12.8 61.5 12.8 12.8 0 100.0
oA Red 7.1 56.7 21.3 14.9 .0 100.0
& X T 1.5 60.5 20.2 7.8 .0 100.0
ﬂ 2 o= o 1.7 46.4 25.3 16.7 .0 100.0
S - ol B ® ¢ 6.5 50.0 22.6 21.0 .0 100.0
o Ct 13.0 46.6 23.7 16.7 .0 100.0
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= 2 2 13.5 75.7 10.8 .0 0 100.0
Ha/sg/E5= 8.3 73.2 18.0 4 0 100.0
LTINS 3.9 74.5 21.2 4 0 100.0
h=/8= 17.3 68.8 1.9 2.0 0 100.0
Sa/2M/BE 19.7 67.8 12.6 .0 0 100.0
HMZE/01=2/6 4.3 78.3 17.4 .0 0 100.0
2 = g 0 .0 0 .0 0 0
X 2 6.4 75.5 17.2 1.0 0 100.0
= [ 12.5 715 15.8 2 0 100.0
2 & 15.5 74.7 9.1 8 0 100.0
o 3 & 19.0 74.3 5.8 9 0 100.0
o2 8 5.1 73.5 20.7 7 0 100.0
2 g 2 17.9 71.8 10.3 .0 0 100.0
I3/ 28 12.1 74.5 13.5 .0 .0 100.0
s Lt oet g 18.7 74.4 5.8 1.2 0 100.0
ol = g 3.6 73.3 22.2 8 0 100.0
ol B ® oo 12.9 71.0 16.1 .0 0 100.0
gl Ct 11.6 74.2 13.9 2 0 100.0
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of 20 o 15.4 57.9 22.9 3.8 0 100.0
30 o 18.8 61.1 17.8 2.3 0 100.0
40 o 22.0 57.3 18.8 2.0 0 100.0
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17.7 58.9 21.1 2.3 0 100.0
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g o 17.9 60.7 20.1 1.3 0 100.0
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= 0= o & 18.9 61.0 17.0 3.1 0 100.0
= I s 15.5 65.9 16.3 2.4 0 100.0
2 m} 20.1 56.6 19.8 3.5 0 100.0
& 3 = D 18.3 53.9 22.6 5.2 0 100.0
JEE R 41.2 35.3 23.5 0 0 100.0
2 i} 17.8 58.8 22.0 15 0 100.0
B! 200 oHal 0|9 21.0 51.6 23.8 3.6 0 100.0
& 200 ~ 300 0] 2 18.4 62.6 17.0 2.0 0 100.0
£ 300 PHal 04 14.4 63.8 19.9 1.9 0 100.0
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Ha/zd/E= 20.6 57.1 18.3 4.0 0 100.0
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A2 AH/AY 13.9 55.9 24.8 5.4 0 100.0
2 =2 g 0 0 0 0 0 0
= M 2 12.1 62.6 22.2 3.0 0 100.0
X o E /A 125 61.9 23.1 2.5 0 100.0
< 2 2 29.7 45.9 20.3 4.1 0 100.0
Ha/sd/E= 18.0 62.7 17.1 2.2 0 100.0
E/EY/HE 21.6 60.2 16.9 1.3 0 100.0
/2= 19.8 54.5 22.3 3.5 0 100.0
A2 AR 15.8 57.9 23.0 3.3 0 100.0
HZ=/01=/5H 26.1 56.5 17.4 0 0 100.0
2 =2 g 0 0 0 0 0 0
ol ® o 20.1 62.5 15.7 1.7 0 100.0
& = [ 22.1 54.9 19.9 3.1 0 100.0
2 o + 12.3 59.2 25.6 2.9 0 100.0
16 o 3 = 16.0 55.3 24.8 3.9 0 100.0
a o2 8 21.4 61.1 16.3 1.2 0 100.0
e TR 10.3 71.8 15.4 2.6 0 100.0
IR/ 22y 14.9 56.7 24.1 43 0 100.0
x B Uy 17.3 55.6 23.9 3.2 0 100.0
2 g F g 22.2 60.8 16.4 6 0 100.0
2 J B E Y 21.0 59.7 12.9 6.5 0 100.0
= =} 15.5 59.6 21.6 3.2 0 100.0
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EEREE] 311 5.9 13 9.3 26.0 5.7 8 0 0] 100.0
g o Xt 30.6 7.5 1.4 8.7 46.0 4.9 1.0 .0 0] 100.0
of Xt 31.6 4.4 1.1 9.8 46.0 6.4 7 .0 0] 100.0
B 20 o 27.1 7.5 1.7 8.9 46.6 7.2 1.0 .0 0] 100.0
g 30 o 33.3 6.6 2.0 8.6 45.2 4.0 3 .0 0] 100.0
= 40 ] 28.2 35 8 10.6 47.8 7.8 1.2 .0 0] 100.0
50 Of O &l
34.6 5.7 6 9.1 44.9 4.3 9 0 0| 100.0
Ba s/ 380 2.0 .0 10.0 50.0 .0 .0 .0 0] 100.0
g . g ¢l 332 5.7 1.3 9.6 43.7 5.7 9 .0 0] 100.0
= g2 22 351 9.8 1.0 10.2 37.6 5.9 5 .0 0] 100.0
solEzd 290 2.4 1.7 6.6 52.4 7.2 7 .0 0] 100.0
b H F 5 286 5.4 1.0 1.1 47.6 5.4 1.0 .0 0] 100.0
&t A 28.6 9.5 1.6 9.5 39.7 7.9 3.2 .0 0| 100.0
2 b 29.2 14.6 2.1 6.3 47.9 .0 .0 .0 0] 100.0
o =2 cCt
0 0 0 0 0 0 0 0 0 0
Bw = =0 8f 355 6.4 5 9.9 41.4 4.9 1.5 .0 0] 100.0
== ni = 32.6 5.4 9 10.2 46.8 3.8 3 0 .0 | 100.0
== wW=z=od 28 6.5 2.2 7.7 47.1 8.6 1.2 .0 0] 100.0
Bs J = m| 337 48 1.2 12.3 43.3 4.4 4 .0 0] 100.0
u - 2 il 28.9 6.7 1.2 8.5 49.0 5.0 9 .0 0] 100.0
= 2 = m| 3202 5.2 1.7 7.8 435 8.7 9 .0 0] 100.0
etz W 235 5.9 5.9 17.6 35.3 1.8 .0 .0 0| 100.0
2 im] 31.3 6.1 1.1 8.2 46.3 5.9 1.1 .0 0] 100.0
oI 20022 0l 317 7.7 7 10.4 44.6 4.1 9 .0 0] 100.0
& 200~3000 323 4.9 1.3 8.7 46.2 5.6 9 .0 0] 100.0
@ - dooeE olf 285 4.8 1.9 8.3 47.8 8.0 6 .0 0] 100.0
2 2 ¢ .0 .0 .0 .0 0 .0 .0 .0 .0 .0
BA A = 33.7 6.0 1.5 1.6 35.6 10.5 1.1 .0 0] 100.0
= oA /HI 277 4.1 2.1 8.2 52.7 45 7 .0 0] 100.0
28 2 38.1 2.4 .0 1.9 47.6 .0 .0 .0 0] 100.0
tad/sd/58| 286 3.2 8 7.9 53.2 5.6 8 .0 0] 100.0
Zx/EL/E 471 6.6 7 9.6 33.8 2.2 .0 .0 0] 100.0
=/29 289 4.4 1.5 6.7 51.1 7.4 .0 .0 0] 100.0
s/l 233 1.4 5 9.4 50.0 35 2.0 .0 0] 100.0
=2 ¢ .0 .0 .0 0 .0 .0 .0 .0 .0 0
Bz A 2 30.3 14.1 1.0 8.1 36.4 9.1 1.0 .0 0] 100.0
a X o0& /HI 306 5.0 1.3 1.9 425 7.5 1.3 0 0| 100.0
g 2 2l 28.4 1.4 1.4 9.5 55.4 4.1 .0 .0 0] 100.0
Ha/Ed/3 307 3.1 9 8.3 52.2 48 .0 .0 0] 100.0
Zx/8/8 408 4.3 2.6 1.3 36.4 4.8 4 .0 0] 100.0
= /39 267 6.4 1.0 8.9 49.5 6.9 5 .0 0] 100.0
Sa/26/AH 257 8.7 5 6.6 52.5 3.8 2.2 .0 0] 100.0
HZ=/012/3 39.1 8.7 .0 8.7 34.8 4.3 4.3 .0 0] 100.0
e g ¢ .0 .0 .0 .0 .0 .0 .0 .0 .0 .0
go n ] 35.3 6.6 1.0 8.6 41.2 6.6 7 .0 0| 100.0
g4 = = | 326 3.8 T 10| 472 3.6 1.0 0 0| 100.0
== = % 24.8 7.5 2.1 8.0 49.9 6.9 8 .0 0] 100.0
B16 0 3 & o248 5.8 9 6.5 53.5 7.4 1.2 .0 0] 100.0
EH*dm L 2 # 36.7 6.5 1.2 10.7 39.6 5.1 2 0 0| 100.0
ANE a2 2l a3 26 ol 103| 513 0 26 0 0| 1000
A/ 22 262 5.0 2.8 1.3 48.2 43 2.1 .0 0| 100.0
mX s U e 254 5.5 1.2 7.8 51.6 7.2 1.4 .0 0] 100.0
42w = gl s 6.1 14 114| 386 4.4 3 0 0] 100.0
5° e 39 323 8.1 3.2 4.8 435 6.5 1.6 .0 0] 100.0
gl ct 29.9 5.8 9 9.3 48.0 5.3 7 .0 0| 100.0
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255 s|R5s sgas #|gas #|gas d|gast d|gast #gast #gas 3(aas
N % N % N % N % N % N % N % N % N % N %
EEREE] 3.2 371 6.8 8.1 5.0 9.0 6.1 0 8| 100.0
g o Xt 14.9 31.1 17.3 17.0 5.1 8.7 5.6 .0 3| 100.0
of Xt 1.5 31.1 16.2 19.1 4.9 9.3 6.5 .0 1.3 100.0
B 20 o 13.0 30.8 18.2 16.1 6.8 9.2 5.1 .0 7| 100.0
g 30 o 13.5 35.3 13.9 16.5 5.3 9.6 5.6 .0 3| 100.0
= 40 ] 12.5 31.0 18.4 19.6 35 9.0 5.9 .0 0| 100.0
50 Of Ol 4
13.4 27.7 16.9 20.0 43 8.3 7.4 0 2.0| 100.0
Ba s/oe/ 140 38.0 14.0 6.0 2.0 12.0 8.0 .0 6.0 | 100.0
g . g ¢l 148 29.7 20.1 15.7 3.9 7.9 7.9 .0 0| 100.0
= sz 22 137 31.7 16.6 17.6 7.3 7.8 3.9 .0 15| 100.0
stoezd 103 32.4 17.6 18.6 6.6 9.0 5.5 .0 0| 100.0
= 114 31.1 14.0 22.2 3.8 9.2 7.0 .0 1.3 100.0
&t A 20.6 22.2 20.6 1.1 4.8 14.3 6.3 .0 0| 100.0
2 kS 20.8 31.3 12.5 22.9 2.1 8.3 2.1 .0 0| 100.0
o =2 cCt
0 0 0 0 0 0 0 0 0 0
Bw == o0 5 108 30.5 14.3 17.2 5.9 1.3 6.9 .0 3.0| 100.0
g 12 E| 138 309| 178]| 176 5.0 7.6 6.6 0 7| 1000
== w=zEoy 134 31.6 16.5 19.1 45 9.8 5.0 .0 0| 100.0
BE J = 1 9.5 27.0 19.0 17.9 6.7 12.3 7.5 .0 0| 100.0
- - = il 17.2 29.7 16.6 18.1 3.5 9.6 4.4 .0 9| 100.0
= # = |l 200 27.8 13.9 19.1 7.0 6.1 43 .0 1.7 | 100.0
Jl Bt & W 5.9 41.2 5.9 17.6 0 .0 23.5 .0 59| 100.0
2 il 10.8 34.7 16.7 18.0 4.9 7.8 6.3 .0 8| 100.0
Bt 20092 0l 136 33.3 16.1 16.5 5.0 8.4 5.4 .0 1.8 100.0
& 200~3000 14.3 30.5 18.4 17.3 4.9 9.6 45 .0 4| 100.0
@ - sooerE olf 109 28.8 15.4 21.5 5.1 9.0 9.3 .0 0| 100.0
2 = ¢ .0 0 .0 .0 0 .0 .0 .0 .0 .0
B A = 8.2 24.0 20.6 20.6 6.7 10.1 9.7 .0 0| 100.0
= ol /2 140 34.2 14.7 17.5 55 8.2 5.8 .0 0| 100.0
28 2 1.9 23.8 31.0 16.7 2.4 14.3 .0 .0 0| 100.0
HE/Eg/a 119 421 1.9 12.7 4.0 8.7 4.0 .0 48| 100.0
ZE/MY/A 3.7 30.9 19.1 14.0 5.1 12.5 14.0 .0 7| 100.0
W=/29 148 39.3 17.8 14.8 4.4 5.9 1.5 .0 15| 100.0
s/l 248 25.2 12.4 24.3 35 7.4 2.0 .0 5| 100.0
=2 ¢ .0 .0 .0 .0 .0 .0 .0 .0 .0 .0
BE A 2 15.2 27.3 17.2 141 8.1 1.1 7.1 .0 0| 100.0
a X o & /HI 150 30.0 16.3 17.5 5.0 8.8 75 0 0| 100.0
g 2 2l 12.2 25.7 23.0 24.3 2.7 8.1 4.1 .0 0| 100.0
Ha/E4/3 105 39.5 13.2 14.9 4.8 9.2 5.7 .0 22| 100.0
2F/HY/A 5.2 29.9 21.2 14.3 6.9 10.0 1.7 .0 9| 100.0
W=/29 173 34.7 16.8 16.3 5.0 6.9 2.0 .0 1.0 100.0
Sa/26/A 197 23.0 13.7 29.5 2.2 8.7 2.7 .0 5| 100.0
HIZ=/01=/4 13.0 34.8 13.0 13.0 43 13.0 8.7 .0 0| 100.0
e g ¢ .0 .0 .0 .0 .0 .0 .0 .0 .0 .0
Bol n ] 10.0 30.9 18.4 18.4 5.1 10.3 6.9 .0 0| 100.0
::-1 4 = [ 12.5 35.0 16.3 17.0 3.4 8.6 5.5 .0 1.7 ] 100.0
5= 0= » 17.3 26.9 15.5 18.9 6.7 8.0 5.9 .0 8| 100.0
Bie o s = 162 29.9 13.0 22.9 4.9 7.6 4.9 .0 7| 100.0
e = =2 = 9.0 30.4 20.6 15.6 5.1 10.4 7.7 .0 1.2 100.0
ANE @ @ 2| 28| 62| 128| 128 51| 103 0 0 0| 1000
A/ 22y 213 33.3 13.5 14.9 5.0 7.1 5.0 .0 0| 100.0
X s Uy 173 27.1 1.5 24.5 6.1 7.2 6.1 .0 3| 100.0
a2 e = gl 75| 286 236| 125 56| 111 9.7 0 1.4 100.0
5° JEe3d 9.7 41.9 16.1 9.7 8.1 12.9 1.6 .0 0| 100.0
gl Ct 15.1 34.8 15.3 18.8 3.2 8.1 3.7 .0 9| 100.0
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7 25.1 73| 323| 266 8. 5 N R N 0 100.0
g x| 272 83| 295| 258 7.8 8 2 2 2 0| 100.0
o T 231 62| 350| 273 8.2 2 0 0 0 0| 100.0
20 o] 281 96| 281 257 7.5 1.0 0 0 0 0| 100.0
30 o 267 92| 294 267 6.9 3 3 0 3 0| 100.0
40 | 259 39| 39| 263| 102 8 0 0 0 0| 100.0
50 O ol 4
20.6 60| 380| 274 7.7 0 0 3 0 o| 100.0
s/01e/e  18.0 80| 340 300 8.0 0 0 2.0 0 0| 100.0
g o9l 262 66| 89.7| 201 7.0 4 0 0 0 0| 100.0
g2 ze| o54| 112| 288| 278 5.9 1.0 0 0 0 0| 100.0
S0 EZ] 300 59| 266| 259| 107 7 3 0 0 0| 100.0
FFES 2202 63| 349 273 9.2 0 0 0 0 0| 100.0
st s 238 63| 31.7| 333 3.2 1.6 0 0 0 0| 100.0
e x| 167 83| 292| 396 42 0 0 0 2.1 0| 100.0
2 =g g
0 0 0 0 0 0 0 0 0 0 0
» =zo0 3 158 69| 860| 330 7.9 0 0 5 0 0| 100.0
* 2 =| o247 74| 335| 266 7.4 2 0 0 2 0| 100.0
S o=z 301 72| 289| 234 8.9 1.2 2 0 0 0| 100.0
z 3 = 1 306 63| 294 o258 6.3 8 4 4 0 0| 100.0
2 2| 242 61| 347| 254 9.3 0 0 0 3 0| 100.0
B a oz 3| 243 61| 31.3| 243| 139 0 0 0 0 0| 100.0
o B 5 W 294 118 294| 294 0 0 0 0 0 0| 100.0
e 2| 228 87| 326| 283 6.8 8 0 0 0 0| 100.0
o 2002 olf 247 86| 328| 256 7.7 2 0 2 2 0| 100.0
£ 200~3000 27.8 70| 832| 247 7.2 2 0 0 0 0| 100.0
€ gooor® o 218 58| 304 308 9.6 1.3 3 0 0 0| 100.0
2 =z g 0 0 0 0 0 0 0 0 0 0 0
2 A 2| 326 52| 288 251 6.7 1.5 0 0 0 0| 100.0
o /7 178 75| 349| 295 9.9 3 0 0 0 0| 100.0
2 2| 429 48| 333 119 7.1 0 0 0 0 0| 100.0
E/EL/E 230 56| 452 19.0 6.3 0 0 0 8 0| 100.0
2x/ad/®  257| 140 243| 243 9.6 7 7 7 0 0| 100.0
W /e 202 67| 356| 289 6.7 0 0 0 0 0| 100.0
CIENTE: PR 69| 282 322 7.9 0 0 0 0 0| 100.0
e =2 g 0 0 0 0 0 0 0 0 0 0 0
5 A 2| 232 51| 283| 354 6.1 2.0 0 0 0 0| 100.0
N o@ /20 188 11.3| 281| 281| 131 6 0 0 0 0| 100.0
s 2 2| 338 81| 338| 176 6.8 0 0 0 0 0| 100.0
E/zs2/E 268 39| 399| 208 7.9 4 0 0 4 0| 100.0
2x/Ed/E 286 91| 286| 247 7.4 9 4 4 0 0| 100.0
W= /2d 208 84| 37| o217 9.4 0 0 0 0 0| 100.0
La/2/ 257 55| 31.1| 328 49 0 0 0 0 0| 100.0
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g 30 ] 8.6 81.8 8.6 1.0 .0 100.0
= 40 ] 8.6 82.0 9.4 0 0 100.0
50 CH O 4t
7.4 85.4 6.9 3 0 100.0
B =0/012/U 12.0 84.0 4.0 .0 .0 100.0
e o9 o 7.9 80.8 10.9 4 0 100.0
= =22 12.7 81.5 5.4 5 0 100.0
50l E 22 1.0 78.3 9.3 1.4 .0 100.0
I EFER 5.4 87.3 7.3 0 0 100.0
&t A 6.3 87.3 3.2 3.2 0 100.0
2 = 6.3 85.4 8.3 0 .0 100.0
2 =2 g

0 0 .0 0 0 0
B = = o st 5.9 87.2 6.9 0 .0 100.0
5 Inl = 9.2 83.9 6.4 5 0 100.0
== o= ol & 9.8 78.7 10.3 1.2 .0 100.0
SIS = 1 10.7 83.7 48 8 .0 100.0
1 - = i} 7.6 81.9 9.6 9 0 100.0
= 2 = 1 7.8 83.5 7.8 9 .0 100.0
ol B E 5.9 82.4 5.9 5.9 .0 100.0
=] il 9.1 82.5 8.2 2 0 100.0
B O 200 o+ 0|g 1.5 82.1 5.4 9 .0 100.0
T 200 ~ 300 0|2t 6.5 83.0 10.3 2 .0 100.0
. 300 Or Ol 4t 8.3 83.0 7.7 1.0 0 100.0
2 = ¢ 0 0 0 0 0 0
B M 2 9.0 84.3 6.4 4 .0 100.0
o ol s /&l 45 83.9 9.9 1.7 .0 100.0
= 2 2 9.5 90.5 0 0 0 100.0
ha/sg/s= 7.1 86.5 6.3 0 .0 100.0
Ux/HL/HE 29.4 67.6 2.9 .0 .0 100.0
h=/2s 4.4 85.9 8.1 15 0 100.0
SAYSA/AY 5.0 82.7 12.4 0 .0 100.0
2 =2 g .0 .0 .0 .0 .0 .0
] M = 12.1 76.8 9.1 2.0 0 100.0
g A ol /&Il 6.3 83.8 9.4 6 0 100.0
= 2 2 8.1 87.8 4.1 0 .0 100.0
ha/zg/s= 7.0 88.2 48 0 0 100.0
E/HY/HE 18.2 79.2 1.3 1.3 0 100.0
W= /3= 5.4 81.2 12.4 1.0 .0 100.0
SAYS /A Y 3.8 82.5 13.7 .0 .0 100.0
HZ=/012 /812 8.7 78.3 13.0 0 .0 100.0
2 = ¢ .0 .0 .0 0 .0 0
) = 2 14.0 81.4 4.7 .0 .0 100.0
::-1 = [ 6.7 84.4 7.9 1.0 0 100.0
> =l e 5.6 82.1 1.2 1.1 0 100.0
B o 3 = 2.8 78.9 171 1.2 .0 100.0
o [ 14.5 84.0 1.0 5 .0 100.0
g 2 9 2 7.7 87.2 5.1 0 0 100.0
I A/ esy 43 87.2 8.5 0 .0 100.0
s U o2k & 4.0 78.1 17.3 6 .0 100.0
I = 15.3 82.8 1.1 8 0 100.0
ol BB e 14.5 74.2 8.1 3.2 .0 100.0
2l ct 6.5 87.5 5.8 2 .0 100.0
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&67. OOEMNAE Xt HEMA 0=

HOJSLIN?

(o]
I 2
0l5| = 28 Ao JlEt 58 s 20
SE6 & S58 3 SE6 & S5 o SE6 & S58 3
N % N % N % N N % N %
RS 2l 36.0 49.0 2.9 0 2.1 100.0
£ o Xt 38.2 47.9 3.2 .0 10.7 100.0
01 Xt 33.9 50.1 2.6 .0 13.4 100.0
B o 20 v 21.2 56.2 3.4 0 19.2 100.0
g 30 w] 27.7 54.1 43 .0 13.9 100.0
= 40 40.8 471 2.4 .0 9.8 100.0
50 Of Ol &
52.0 40.0 1.7 .0 6.3 100.0
B so/0g/a 36.0 56.0 4.0 .0 4.0 100.0
g@ oy o 41.0 41.9 3.5 0 13.5 100.0
= 22z g 27.3 55.1 2.9 .0 14.6 100.0
stolE 2 et 33.8 53.8 3.1 .0 9.3 100.0
IR =g 42.2 441 2.2 0 1.4 100.0
El 2 14.3 60.3 4.8 .0 20.6 100.0
2 = 50.0 37.5 .0 .0 12.5 100.0
2 2 ¢
.0 .0 .0 0 .0 .0
B = = 0 & 46.8 45.8 1.0 .0 6.4 100.0
g+ 2 B 32.5 50.8 3.6 .0 13.1 100.0
== o= ol & 35.6 48.1 2.9 .0 13.4 100.0
BE s n 31.7 51.2 2.4 .0 14.7 100.0
i - 2 il 47.2 39.7 3.5 0 9.6 100.0
= @ = 28.7 58.3 35 0 9.6 100.0
Bl I= | 58.8 23.5 .0 .0 17.6 100.0
=] il 31.1 53.3 2.7 0 12.9 100.0
B ot 200 g+ O|gt 35.1 48.9 3.2 0 12.9 100.0
T g 200 ~ 300 0| g+ 32,5 52.2 2.7 0 12.6 100.0
8 300 g+l 0l 4t 42.3 44.6 2.9 0 10.3 100.0
2 =2 g .0 0 .0 0 .0 0
B M = 39.3 51.3 2.2 .0 7.1 100.0
= - ol & /&7l 33.6 49.7 2.4 0 14.4 100.0
= % 2 31.0 59.5 2.4 0 7.1 100.0
ha/zd/52 25.4 52.4 6.3 .0 15.9 100.0
F/HY/ES 2.2 94.9 .0 .0 2.9 100.0
h=/2= 56.3 20.0 3.7 0 20.0 100.0
SAYSAHE 52.0 29.2 4.0 .0 14.9 100.0
2 2 ¢ .0 .0 .0 .0 .0 .0
IS A s 35.4 48.5 2.0 0 141 100.0
a olrs /&Il 36.9 44.4 3.8 .0 15.0 100.0
B 2 2 27.0 58.1 2.7 .0 12.2 100.0
Ha/sg/5= 35.5 47.4 4.4 0 12.7 100.0
ZF/HY/EE 43 89.6 4 .0 5.6 100.0
ha/3= 59.4 25.2 3.0 .0 12.4 100.0
SA/S M/ 53.0 28.4 4.4 0 14.2 100.0
HZ=/01=/6H 43.5 34.8 .0 0 21.7 100.0
2 2 g .0 .0 .0 .0 .0 .0
B 0l bS] ] 23.5 63.5 3.4 0 9.6 100.0
24 = 3 35.7 46.0 3.6 0 14.6 100.0
=< =l %+ 49.9 36.5 1.6 .0 12.0 100.0
B 16 o 3 =& 100.0 0 .0 0 .0 100.0
ua L 2 # .0 100.0 .0 0 .0 100.0
%X'E A 9 oz 0 0 89.7 0 10.3 100.0
Bl R =t=1= .0 0 .0 0 100.0 100.0
& Xl s U et ¢ 87.9 5.5 6 0 6.1 100.0
Q:cg ol = g 1.7 95.6 6 .0 2.2 100.0
5 ol BB g 1.3 54.8 25.8 .0 8.1 100.0
gl Ct 26.5 44.3 3.5 0 25.8 100.0
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£268. OOEMNAM=E Us & 0= &= XXIGHALID?

g B4

U O% £4

S 02 84

NE ) B3 M 10 &

B3> 53 EIeR BRI

B 2 B3 090 0w B

68
X XI5t
g Ls |30 SF JHE 201 | "0l &t
Stitetg | oIFg =3 21 Xtoigd et Ct 28e Sl
S58 H |REs Y (258 H (KR8 Y |25 H [R58 W Q58 H [958 ¥ Q58 Y
N % N % N % N % N % N % N % N % N %

oA 28.9 30.0 3.3 1.4 4 B 35.9 .0 100.0
24 = . 30.4 29.4 4.8 2.0 Ve 2 32.6 .0 100.0
o Xt 27.5 30.6 1.8 8 2 .0 39.1 .0 100.0
o 20 CH 16.8 32.9 41 1.4 .3 .0 44.5 .0 100.0
30 CH 22.1 30.7 4.6 2.3 Ve .3 39.3 .0 100.0
40 CH 35.3 30.2 2.4 1.2 .0 .0 31.0 .0 100.0

50 Of O &
40.3 26.9 2.0 9 .6 0 29.4 0 100.0
=2/012/9 ey 24.0 34.0 6.0 2.0 2.0 0 32.0 .0 100.0
g o 35.4 24.9 3.1 1.7 4 0 34.5 .0 100.0
s F Z o 22.0 30.2 4.4 1.5 5 5 41.0 .0 100.0
3ol E & et 26.9 31.7 3.4 2.1 .3 .0 35.5 .0 100.0
HEF R 33.7 30.2 1.6 .6 .3 0 33.7 .0 100.0
el o 12.7 34.9 6.3 1.6 .0 0 44.4 .0 100.0
f S 35.4 31.3 2.1 .0 .0 0 31.3 .0 100.0

2 2 ¥
0 0 0 0 .0 0 0 0 0
JZL s £ 0l of 36.5 32.5 .5 .0 1.0 .0 29.6 .0 100.0
o ] ES 26.1 30.6 3.1 1.6 .3 .0 38.3 .0 100.0
= o & 0l & 29.2 28.0 4.8 1.9 2 .2 35.6 .0 100.0
ES Jos 27.8 34.5 1.2 1.2 .8 .0 34.5 .0 100.0
= m 38.2 25.7 2.0 1.2 .6 .0 32.4 .0 100.0
& & = 1 24.3 27.0 5.2 1.7 .0 9 40.9 .0 100.0
Jl EF & 41.2 23.5 .0 .0 .0 .0 35.3 .0 100.0
2 m 23.5 31.7 4.9 1.7 2 .0 38.1 .0 100.0
It 200 2+& 0l 2H 25.8 31.4 5.0 1.8 .5 2 35.3 .0 100.0
f;; 200 ~ 300 019 29.8 32.7 2.5 1.1 4 .0 33.4 .0 100.0
= 300 2+ 014y 32.1 24.0 1.9 1.3 .3 .0 40.4 .0 100.0
£ 8 € .0 .0 .0 .0 .0 .0 .0 .0 .0
A A 2 35.6 36.0 1.9 1.5 .0 .0 251 .0 100.0
ol /&0 21.6 23.3 2.1 .3 .3 .0 52.4 .0 100.0
& 2 & 28.6 28.6 2.4 2.4 .0 .0 38.1 .0 100.0
Ha/sE/8H 13.5 33.3 4.0 2.4 2.4 .0 44.4 .0 100.0
23/ /ES N 75.7 2.2 2.9 .0 7 17.6 .0 100.0
= /2= 46.7 8.1 5.9 3.0 Ve .0 35.6 .0 100.0
24aH/88HAY 47.5 13.9 5.4 .0 .0 .0 33.2 .0 100.0
? 8 € .0 .0 .0 .0 .0 .0 .0 .0 .0
= A = 33.3 27.3 2.0 1.0 .0 .0 36.4 .0 100.0
5:! oL & /& Dl 26.3 23.1 1.9 .6 .0 .0 48.1 .0 100.0
= B & 23.0 23.0 41 1.4 .0 .0 48.6 .0 100.0
Ha&/5E/59 23.7 28.9 1.8 1.8 1.3 .0 42.5 .0 100.0
SRS VRSE: | 3.5 68.8 3.5 1.7 .0 4 22.1 .0 100.0
W= /2= 48.0 13.4 4.0 2.0 .5 .0 32.2 .0 100.0
Sa/28HAY 48.6 12.6 5.5 5 .0 .0 32.8 .0 100.0
H==/01=/012 30.4 17.4 4.3 4.3 4.3 .0 39.1 .0 100.0
£ 8 € .0 .0 0 .0 .0 .0 .0 .0 .0
&l 2 18.6 37.3 4.9 1.2 .5 .0 37.5 .0 100.0
= = 28.3 28.3 3.6 2.4 .5 2 36.7 .0 100.0
=) = 40.8 24.0 1.1 5 .3 .0 33.3 .0 100.0
o 3 # 70.6 1.4 7 7 2 .0 26.4 .0 100.0
s 2 ¥ 3.2 58.5 2.9 2.0 7 2 32.5 .0 100.0
2 g 2z 5.1 5.1 41.0 .0 .0 .0 48.7 .0 100.0
/28 14.9 5.7 2.1 1.4 .0 .0 75.9 .0 100.0
s Lt ¢ 100.0 .0 0 .0 .0 .0 .0 .0 100.0
= ¢ .0 100.0 .0 .0 .0 .0 .0 .0 100.0
ol B & ¢ .0 .0 62.9 27.4 8.1 1.6 .0 .0 100.0
ford Ct .0 .0 0 .0 .0 .0 100.0 .0 100.0
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DQ6. HotHA=E Arelel 0I8H o0l Chs & LIl fAXIstltyl QDFEPQLIDP?
‘e JECHetl) MAGHACE 0F, ‘S0 et M2AGHAIS
‘e Ex0Fet M2GHAIE 1088 FAID| HHELICH

N &)

[UE 0% B3

NE 12 B3

NE ) B33 A 0 &3

RIer- & ng LRt KNI

BONHE B DR E
iz

da6
ERIE 0= OH
e 18 2F 3F 48 (H =Y 63 73 8% 98 |2 B2 [28E | A
P55t dR 55 SR5E BREE BREE SR RS dREE dR5E SREE HREE SRS SRS &
N % N % N % N % N % N % N % N % N % N % N % N % N %
a g 2.4 1.0 6.8| 11.8| 12.0| 348 10.8 9.3 6.9 2.6 1.6 .0 100.0
B g 3.2 1.9 7.1 11.4 12.7 32.8 10.7 8.8 7.8 2.4 1.2 .0 | 100.0
O 1.6 2 6.4 12.3 11.3 36.7 11.0 9.8 6.1 2.8 2.0 .0 | 100.0
o 20 1.7 7 12.7 17.1 13.4| 32.5 11.3 4.8 4.8 .0 1.0 .0| 100.0
30 2.3 1.7 7.3 11.6 12.9 36.6 8.9 8.9 6.3 1.7 2.0 .0 | 100.0
40 2.4 1.2 5.1 12.5 12.9 36.1 12.5 10.2 4.7 1.2 1.2 .0| 100.0
50 O ol
3.1 6| 26 7.1 9.4| 340| 10.9| 12.9| 109| 6.6 2.0 0| 100.0
N =9/0d 6.0 2.0 2.0 6.0 40| 40.0 6.0 8.0 16.0 8.0 2.0 .0 | 100.0
g 2.6 2.2 5.7 9.6 9.6 37.1 13.1 8.7 7.4 3.5 4 .0 100.0
= s 2 Z 3.4 2.0 7.8 9.3 73| 41.5 8.8 9.8 6.3 1.5 2.4 .0 | 100.0
3t 0l E 3 2.1 .3 8.3 17.6 16.6 29.0 12.1 5.9 5.5 1.4 1.4 .0 | 100.0
I E F 1.3 .0 41 9.5 14.3 35.2 11.4 12.4 7.3 2.5 1.9 .0 | 100.0
& 3.2 1.6 222 17.5 15.9 25.4 6.3 4.8 1.6 .0 1.6 .0 | 100.0
f 2.1 0 .0 12.5 4.2 33.3 8.3 18.8 10.4 8.3 2.1 .0| 100.0
o =2
0 0 0 0 0 0 .0 0 0 0 0 0 0
o = & 0l 3.4 5 2.0 4.4 6.9 34.0 8.9 15.3 14.3 6.9 3.4 .0| 100.0
i ] E 2.4 1.0 6.6 10.4 10.4 | 40.4 11.6 9.2 4.8 2.2 1.0 .0 | 100.0
= o & ol 1.9 1.2 9.3 17.5 16.7 27.3 10.8 6.7 6.2 1.0 1.4 .0 | 100.0
s Il = 3.6 .8 6.7 13.5 12.3 33.7 10.3 10.7 71 4 .8 .0| 100.0
= 1 1.5 1.2 4.4 8.7 12.2 36.2 12.0 10.8 6.1 3.8 3.2 .0 100.0
= & =F 3.5 9 7.8 14.8 10.4| 32.2 10.4 8.7 7.0 4.3 .0 .0 ] 100.0
Jl B B .0 5.9 .0 5.9 0 41.2 5.9 17.6 11.8 .0 11.8 .0| 100.0
< 1 2.3 .8 8.5 12.7 12.5 34.7 10.6 7.4 7.2 2.5 .8 .0 100.0
JbF 200 2+ 3.6 2.0 4.1 8.4 9.0| 423 10.0 7.5 7.0 3.4 2.7 .0 ] 100.0
ﬁ; 200 ~ 30 2.0 2 7.6 1.7 15.2 32.5 12.1 9.9 5.8 2.0 .9 .0 | 100.0
= 300 e+A 1.3 .6 9.3 17.0 11.5 27.2 10.3 11.2 8.3 2.2 1.0 .0 | 100.0
? 8 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0
A E .0 .0 10.5 13.9 16.9 27.0 13.5 11.2 6.0 1.1 .0 .0 | 100.0
orE /g 1.7 1.4 6.5 9.9 11.6 32.5 9.6 11.6 9.9 3.4 1.7 .0 | 100.0
= 2 1 24 .0 48| 19.0 7.1 38.1 9.5 9.5 4.8 2.4 2.4 .0 ] 100.0
a/ s 4.0 2.4 6.3 8.7 8.7 40.5 11.9 8.7 6.3 1.6 .8 .0 | 100.0
2/l 103 1.5 5.1 16.2 11.0 35.3 7.4 2.2 2.9 5.1 2.9 .0| 100.0
o=/ 7 7 4.4 9.6 9.6| 37.8 11.9 9.6 8.9 4.4 2.2 .0 ] 100.0
A TA =TS 1.5 1.0 5.4 10.9 11.4] 416 10.4 8.4 5.9 1.0 2.5 .0 | 100.0
g 8 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0 .0
£ A E .0 1.0 1.1 23.2 12.1 28.3 1.1 6.1 6.1 1.0 .0 .0 ] 100.0
i! orA /g 2.5 .6 7.5 10.6 11.9 28.8 10.0 11.9 11.3 3.8 1.3 .0 | 100.0
= & q 1.4 .0 5.4 13.5 9.5 33.8 10.8 14.9 6.8 1.4 2.7 .0 | 100.0
H&/& 1.3 4 7.5 11.0 11.8 34.6 13.6 11.8 6.1 9 .9 .0 100.0
dF/EY 7.4 1.3 6.9 12.6 12.6 35.9 8.2 4.8 3.5 4.8 2.2 .0 | 100.0
o=/ 1.0 1.0 5.4 7.9 10.9 36.6 11.9 10.4 8.9 4.0 2.0 .0 | 100.0
A/ gL 1.1 1.6 5.5 10.4 14.8 38.3 9.8 8.7 6.6 1.1 2.2 .0 | 100.0
H=/01= .0 4.3 .0 13.0 43| 522 13.0 4.3 8.7 0 .0 .0 | 100.0
£ 8 .0 .0 .0 .0 .0 .0 .0 .0 .0 0 .0 .0 .0
o & E 71 2.9 19.9| 34.8| 353 .0 .0 .0 .0 .0 .0 .0 100.0
;o: = g .0 .0 .0 .0 .0 | 100.0 .0 .0 .0 .0 .0 .0 | 100.0
= g 1 .0 .0 .0 .0 .0 0| 34.7| 299 22.1 8.3 5.1 .0 | 100.0
6 0 3l 2 7 3.5 7.6 10.2 34.5 14.1 13.0 11.3 3.2 1.6 .0 | 100.0
g = = 4.6 1.0 9.0 15.0 145| 32.7 8.7 6.8 3.9 2.6 1.4 .0 ] 100.0
= @ g .0 2.6 12.8 10.3 12.8 | 41.0 5.1 7.7 5.1 2.6 .0 .0 | 100.0
a2 N 1.4 5.7 12.1 71 42.6 11.3 9.2 6.4 N 2.8 .0 | 100.0
X & Lot .6 .3 4.0 7.2 9.8| 34.0 15.0 13.5 10.4 3.5 1.7 .0 | 100.0
§ er = 5.6 1.1 7.2 15.8 12.5 32.8 9.4 7.5 3.1 2.8 2.2 .0 | 100.0
= J#g 3 1.6 3.2 19.4 12.9 6.5 45.2 1.6 1.6 4.8 1.6 1.6 .0| 100.0
At { 1.4 1.2 6.7 12.1 14.2 35.5 10.0 8.6 7.7 1.9 .9 .0 | 100.0
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